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1 OIEHOYHBIE CPEJACTBA AJIA TEKYIIEI'O KOHTPOJIA
YCIIEBAEMOCTHU
1.1.Bompocsl aJist yCTHOTO OInpoca

Paznen (TeMbl) IUCIUMIIMHBI
/o aen ( ) e

1 Mastering Economics

1. Which is the best example of specialization?

2. How does the division of labor increase productivity?

3. What is the main reason Americans specialize more today than the early
pioneers did?

4. Inavoluntary exchange, why do people give something up?

5. How does the commerce clause promote economic interdependence?

6. What does it mean to say that Jen has a comparative advantage over Julian for
weeding people’s gardens?

7. Which of these is the main reason for national differences in comparative
advantage in producing raw materials?

8. Why has much clothing manufacturing moved from the U.S. to other countries?

2 Doing Business

1.What is the value of your offer?

2.Will there be demand for your product?
3.What sets your product apart from your competitors?
4.1s your business scaling?

5.How dedicated are you personally?
6.What is your strength?

7.What is your weakness?

8.How much will your customers pay?
9.What power do your customers have?
10.What power do your suppliers have?

3 Researching the Market

1.How do I sell an item?

2.How should I promote my product?

3.What is the threat of new players on the market?
4.How will you protect your intellectual property?
5.What initial capital do you need?

6.How will you finance your business?

7.How much money do you need to survive the first few years?
8.What are your financial forecasts?

9.How to make your assistants happy?

10.What is your ultimate goal?

4 Marketing

1. What is the most reasonable goal for the firm?

2.  What is marketing?

3. What is positioning? Does it matter in direct marketing?
4. What is a trademark image?

5. What do you mean by "strong" brand?

6. What are the benefits of creating a brand?

7. How do I create a brand using marketing directories?

5 Pricing

1.What steps does the pricing process include?

2.What is the concept of "market structure” and how do different types of markets
differ in terms of pricing?

3.What is the difference between monopolistic and oligopolistic competition markets
and what pricing methods are applied to them?




4.Formulate the goals that pricing is intended to serve.

5.What factors should be taken into account when assessing the demand for goods?
Characterize them.

6.What is the meaning and value of taking into account the coefficient of elasticity of
demand, what coefficients do they calculate, what they show and what they are?
7.What are the indicators to compare costs to when estimating costs, and what explains
this?

8.Why are prices, goods, and competitors evaluated? How relevant is this problem in
modern conditions?

9.Expand the main characteristics of the classification of pricing methods and list them.
10.What are the disadvantages and advantages of cost pricing methods? What is their
relevance in modern conditions in Russia and why?

Business Success Stories of all the Time

1.Why do some succeed and others not?

2.Why does some have a growing business, while others remain in their infancy?
3.How to find out the qualities of a businessman in himself and develop them?
4. What does "being the best" mean?

Advertising

1. What do you know about advertising?

2. Who usually uses advertising?

3. What media are used in advertising?

4. How is advertising spread in your country?

5. Does advertising help you to make your purchases?

6. Don’t you think that there is too much advertising on TV?
7. Do you find advertising useful and necessary?

Promotion

1. What tasks does the marketing communications system solve?

2. What attractive motives are used in the development of advertising appeal?

3. What methods do firms use when setting the promotion budget and what are their
main features?

4. Outline the main and negative aspects of advertising.

5. What are the main methods and means of promoting sales and distribution?

6. What is a personal sale?

7. What principles are used to organize the work of sales personnel when making a
personal sale?

8. How are sales agents monitored and evaluated?

9. What are the main tasks for PR specialists?

Financing the Business

1. What does a new business need to start operations?

2. What is capital?

3. Why does a company need capital?

4. Give the definition of finance.

5. What is the difference between short-term and long-term financing?
6. Who makes financial decisions in a company?

10

Moneyand the Banking System

1. What is the official currency of the U.K.?

2. What is the smallest unit?

3. How many pence are there in one pound?

4. What banknotes and coins are in circulation in the U.K. now?

5. What famous people are featured on the back of various English banknotes?

11

The Greatest Economists
What can you tell about:
1. ADAM SMITH
2. DAVID RICARDO
3. KARL MARX




4. JOHN MAYNARD KEYNES
5. JOSEPH SCHUMPETER

12

Leadership

1. Definition of leadership, which is understood as leadership

2. What are the principles of leadership?

3. Metaliderism, macroliderism, microliderism, their characteristics.
4. Leadership in the broad and narrow sense of the word.

5. What is the reason for the nomination of the leader?

13

The Economic Problem

1. Why do people have to limit their wants?

2. What are the basic questions of economy?

3. What defines the type of economic system the country has?
4. What types of economic systems do you know?

14

Economic System

1. Why is there no change in traditional system?

2. Who makes the basic decision in command system?

3. How do you understand that interaction of consumers and producers makes
market system work?

4. How do economists evaluate people’s standard of living?

15

Factors of Production

. What commodities served as money in the past?

. What are the requirements of a commodity to serve as money?
. Why did precious metals start to serve as money?

. What precious metal was used first to serve as money?

. What precious metal was used then?

. How did coins come into existence?

. How did paper banknotes come into existence?

. What coins are called silver?
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16

Division of Labour

1.What is the first chapter of The Wealth of Nations?

2.What was one important aspect of the Scottish Enlightenment?

3.Who was a major influence on Adam Smith?

4.What are important aspects Smith left out in his description of the pin factory?
5.What are the three arguments that division of labor results in improved productivity?
6.What is the counter argument of improvement of dexterity?

17

Inflation

1.What is the inflation rate?

2.What is the CPI?

3.What is a real price?

4.What is the average US inflation rate? What is the current rate?
5.What is the Quantity Theory of Money?

6.What is velocity?

18

Branding

1.What Is Branding?

2.Why Is It Important for Business?

3.Does Branding increase business value?
4.Does Branding generate new customers?
5.Does employee improve pride and satisfaction?

19

Resume Writing

1. What is résumé?

2.What are four things a great résumé shows employers?

3.Why is it important to create a strong résumé?

4.Describe the three different stages your résumé goes through when being submitted to
an employer.

5.In the résumé above, what would cause appearance of the "00000000000"?




20 Interview

1.Tell me a little about yourself

2.What are your strengths?

3.What are your weaknesses?

4.What are your short term goals?

5.What are your long term goals?

6.What do you want to be doing five years from now?

21 Business Trip

1.What is a business trip?

2. Tell about:

Reasons for business travel

Negatives and positives of business travel
Corporate travel

Kpumepuu ouyenueanusn:

85-100 6an10B (MM OLIEHKA «OTJIMYHO») BBICTABIISIETCS 00y4aronemMycsi, eciiu
OH JIEMOHCTpUPYET TIiyOOKO€ 3HAaHHWE COJEP)KaHUA BOIPOCA; J1aeT TOYHBIE
OTIpe/IeTICHUs] OCHOBHBIX TOHSATHI; apryMEHTHPOBAHHO W JIOTHYECKU CTPOMHO
u3jgaraeT yd4eOHBI MaTepwal; WIIIOCTPUPYET CBOM OTBET aKTyalbHBIMU
npuMepaMu (TUIIOBBIMH M HECTAHJIAPTHBIMHU), B TOM YHCJIE CaMOCTOSITEIHLHO
HAalICHHBIMH, HE HYXJAeTCd B YTOYHAIOIMUX U (WIX) JOMOJHUTEIHHBIX
BOMPOCaXx MpernoaaBaTes.

70-84 6a/y10B (MU OLICHKA «XOPOI0») BRICTABISAETCS 00yJaromeMycsi, €Clii OH
BJIAJICET COJEpKAHUEM BOMPOCA, HO JOMYCKAaeT HEKOTOpbhle HEAOYETHl MPH
OTBETE; JIOMYCKAeT HE3HAUMTENIbHbIE HETOUHOCTH IMPHU ONPENEICHUH OCHOBHBIX
MOHSITHI; HEJIOCTATOYHO ApPTyMEHTHUPOBAHHO M (WMJM) JIOTMYECKH CTPOMHO
u3naraeT ydeOHBIM MaTepuall; WUIIOCTPUPYET CBOM OTBET TUIIOBBHIMHU
IpUMEpPaAMHU.

50-69 ©GamnmoB (WM OICHKA  «YJAOBJETBOPHUTEJIBHO»)  BBICTABISACTCS
oOy4aromemMycs, €Clii OH OCBOMJI OCHOBHBIE TIOJIOKEHHSI KOHTPOJIUPYEMOI TEMBI,
HO HEJIOCTaTOYHO YETKO JAaeT OINpeesIeHUe OCHOBHBIX MOHATUM M AePUHULINN;
3aTpylHSETCST TpPU OTBETaxX Ha JOMOJIHHUTEIbHBIE BOMPOCHI; MPHUBOJUT
HEJ0CTAaTOYHOE KOJIMYECTBO MPUMEPOB ISl WIUTIOCTPUPOBAHUS CBOETO OTBETA;
HYKJIA€TCS B YTOUHSIOIMNX U (WJIK) JOTIOJTHUTEIBHBIX BOIPOCAX MPEIMOIaBaTels.
Menee 50 6aanoB (WM OLEHKA «HEYAOBJIETBOPHUTEIbHO») BBICTABISACTCS
oOyyarouiemMycs, €clii OH HE BIaJIeeT COJIEpP)KaHHWEM BOIPOCAa WIIM JIOMYCKaeT
rpyOble OIIMOKHU; 3aTpyIHSAETCS [aTh OCHOBHBIE OINPEACNEHUS; HE MOXKET
MIPUBECTHU WM MPUBOJAUT HETPABIIIBHBIEC TPUMEPHI; HE OTBEYAET HAa YTOUHSIOIINE
1 (WIKM) JOTOTHUTENBHBIC BOMPOCH MPEMOAABATEINS WM JOIMYCKAeT MPU OTBETE
Ha HUX TPyObI€ OLINOKH.

1.2 BOITPOCHI 11 COBECEJOBAHU A

Ne

Paznien (TeMbl) TUCIIUTUTMHBI
/11

1 Mastering Economics




9. Which is the best example of specialization?

10. How does the division of labor increase productivity?

11. What is the main reason Americans specialize more today than the early
pioneers did?

12. In a voluntary exchange, why do people give something up?

13. How does the commerce clause promote economic interdependence?

14. What does it mean to say that Jen has a comparative advantage over Julian for
weeding people’s gardens?

15. Which of these is the main reason for national differences in comparative
advantage in producing raw materials?

16. Why has much clothing manufacturing moved from the U.S. to other countries?

Doing Business

1.What is the value of your offer?

2.Will there be demand for your product?
3.What sets your product apart from your competitors?
4.1s your business scaling?

5.How dedicated are you personally?
6.What is your strength?

7.What is your weakness?

8.How much will your customers pay?
9.What power do your customers have?
10.What power do your suppliers have?

Researching the Market

1.How do I sell an item?

2.How should I promote my product?

3.What is the threat of new players on the market?
4.How will you protect your intellectual property?
5.What initial capital do you need?

6.How will you finance your business?

7.How much money do you need to survive the first few years?
8.What are your financial forecasts?

9.How to make your assistants happy?

10.What is your ultimate goal?

Marketing
8. What is the most reasonable goal for the firm?
9. What is marketing?
10. What is positioning? Does it matter in direct marketing?
11. What is a trademark image?
12. What do you mean by "strong™ brand?
13. What are the benefits of creating a brand?
14. How do | create a brand using marketing directories?

Pricing

1.What steps does the pricing process include?

2.What is the concept of "market structure” and how do different types of markets
differ in terms of pricing?

3.What is the difference between monopolistic and oligopolistic competition markets
and what pricing methods are applied to them?

4.Formulate the goals that pricing is intended to serve.

5.What factors should be taken into account when assessing the demand for goods?
Characterize them.

6.What is the meaning and value of taking into account the coefficient of elasticity of
demand, what coefficients do they calculate, what they show and what they are?
7.What are the indicators to compare costs to when estimating costs, and what explains
this?

8.Why are prices, goods, and competitors evaluated? How relevant is this problem in




modern conditions?

9.Expand the main characteristics of the classification of pricing methods and list them.
10.What are the disadvantages and advantages of cost pricing methods? What is their
relevance in modern conditions in Russia and why?

6 Business Success Stories of all the Time
1.Why do some succeed and others not?
2.Why does some have a growing business, while others remain in their infancy?
3.How to find out the qualities of a businessman in himself and develop them?
4. What does "being the best" mean?
7 Advertising
1. What do you know about advertising?
2. Who usually uses advertising?
3. What media are used in advertising?
4. How is advertising spread in your country?
5. Does advertising help you to make your purchases?
6. Don’t you think that there is too much advertising on TV?
7. Do you find advertising useful and necessary?
8 Promotion
1. What tasks does the marketing communications system solve?
2. What attractive motives are used in the development of advertising appeal?
3. What methods do firms use when setting the promotion budget and what are their
main features?
4. Outline the main and negative aspects of advertising.
5. What are the main methods and means of promoting sales and distribution?
6. What is a personal sale?
7. What principles are used to organize the work of sales personnel when making a
personal sale?
8. How are sales agents monitored and evaluated?
9. What are the main tasks for PR specialists?
9 Financing the Business
1. What does a new business need to start operations?
2. What is capital?
3. Why does a company need capital?
4. Give the definition of finance.
5. What is the difference between short-term and long-term financing?
6. Who makes financial decisions in a company?
10 Moneyand the Banking System
1. What is the official currency of the U.K.?
2. What is the smallest unit?
3. How many pence are there in one pound?
4. What banknotes and coins are in circulation in the U.K. now?
5. What famous people are featured on the back of various English banknotes?
11 The Greatest Economists
What can you tell about:
6. ADAM SMITH
7. DAVID RICARDO
8. KARL MARX
9. JOHN MAYNARD KEYNES
10. JOSEPH SCHUMPETER
12 Leadership

1. Definition of leadership, which is understood as leadership

2. What are the principles of leadership?

3. Metaliderism, macroliderism, microliderism, their characteristics.
4. Leadership in the broad and narrow sense of the word.

5. What is the reason for the nomination of the leader?




13 The Economic Problem
1. Why do people have to limit their wants?
2. What are the basic questions of economy?
3. What defines the type of economic system the country has?
4. What types of economic systems do you know?
14 Economic System
1. Why is there no change in traditional system?
2. Who makes the basic decision in command system?
3. How do you understand that interaction of consumers and producers makes
market system work?
4. How do economists evaluate people’s standard of living?
15 Factors of Production
1. What commaodities served as money in the past?
2. What are the requirements of a commodity to serve as money?
3. Why did precious metals start to serve as money?
4. What precious metal was used first to serve as money?
5. What precious metal was used then?
6. How did coins come into existence?
7. How did paper banknotes come into existence?
8. What coins are called silver?
16 Division of Labour
1.What is the first chapter of The Wealth of Nations?
2.What was one important aspect of the Scottish Enlightenment?
3.Who was a major influence on Adam Smith?
4.What are important aspects Smith left out in his description of the pin factory?
5.What are the three arguments that division of labor results in improved productivity?
6.What is the counter argument of improvement of dexterity?
17 Inflation
1.What is the inflation rate?
2.What is the CPI?
3.What is a real price?
4.What is the average US inflation rate? What is the current rate?
5.What is the Quantity Theory of Money?
6.What is velocity?
18 Branding
1.What Is Branding?
2.Why Is It Important for Business?
3.Does Branding increase business value?
4.Does Branding generate new customers?
5.Does employee improve pride and satisfaction?
19 Resume Writing
1. What is résumé?
2.What are four things a great résumé shows employers?
3.Why is it important to create a strong résumé?
4.Describe the three different stages your résumé goes through when being submitted to
an employer.
5.In the résumé above, what would cause appearance of the "00000000000"?
20 Interview
1.Tell me a little about yourself
2.What are your strengths?
3.What are your weaknesses?
4.What are your short term goals?
5.What are your long term goals?
6.What do you want to be doing five years from now?
21 Business Trip




1.What is a business trip?

2. Tell about:

Reasons for business travel

Negatives and positives of business travel
Corporate travel

HlIxana ouenusanus: 100 6anipHas.

Kpumepuu oyenusanusa (nudcecneoyroujue Kpumepuu OYeHKu A6II0mes nPpUMepHbiMu
U MO2Ym KOpPeKmupo8amucs):
85-100 6a/1;10B (MM OIIEHKA «OTJIMYHO») BBICTABISIETCS] 00yJaromEeMycsl, €CJIM OH IPUHIMAET
aKTHBHOE yJacTue B Oecelie 0 OOJIBIIMHCTBY 00CYX/TaeMbIX BOIPOCOB (B TOM YHCIE CaMbIX
CIIO’KHBIX); IEMOHCTPHPYET C(POPMHUPOBAHHYIO CIIOCOOHOCTH K JTHAIIOTUYECKOMY MBIIIJICHHIO,
MPOSIBIISIET YBOKEHHE W WHTEPEC K WHBIM MHEHHSM; BIIAZCET TIIyOOKHMMH (B TOM 4YHUCIIE
JOTIOJTHUTEIBHBIMK) 3HAHMSIMA TIO0 CYHIECTBY OOCYXIAeMBIX BOIPOCOB, OPATOPCKUMH
CIOCOOHOCTSIMH M TIPAaBUJIAMU BEJCHHS TIOJIEMUKH; CTPOUT JIOTUYHBIEC, apTyMEHTHPOBAHHEIE,
TOYHBIC W JIAKOHUYHBIC BBICKA3BIBAHHS, COMPOBOXIAEMBIC SPKUMHU IpPUMEpaMH; JIETKO W
3aWHTEPECOBAHHO OTKIHMKACTCS Ha HEOXHUJAHHBIE paKypchl Oecelpl; HE HYKIAeTCsl B
YTOYHSIIOUIUX U (UJTM) TOTIOJTHUTEIBHBIX BOIIPOCAX MPENO1aBaTeNs.
70-84 6ami0B (MM OIICHKA «XOPOI0») BBICTABIIETCS 00YyJalOIIeMyCsl, €CITH OH MPUHUMAET
yuactre B oOcyxaeHnn He mMeHee 50% IMCKYCCHOHHBIX BOIIPOCOB; MPOSIBIISIET YBaKECHUE U
WHTEpEC K WHBIM MHEHHSM, JO0Ka3aTeJbHO M KOPPEKTHO 3all[MIIAeT CBOE MHEHHWE; BIaJleeT
XOPOIIMMH 3HAHUSMHU BOIPOCOB, B OOCYXJIEHHUH KOTOPBIX NMPHHUMACT y4acThe; yMEeT He
CTOJBKO BECTH IIOJIEMHKY, CKOJIbKO y4acTBOBaTh B  HEW; CTPOUT JIOTHYHBIEC,
apryMEHTHPOBAaHHBIC BBICKAa3bIBaHUS, COTPOBOXKIACMBIE IOAXOSIIUMU TpUMEpaMH; He
BCerJla OTKIIMKACTCS Ha HEOKUJIAaHHBIC PAKypChl Oece/bl; HE HYXKIAeTCS B YTOUHSIOMIUX H
(WH) TOTOTHUTEBHBIX BOMIPOCAX MPETIOIaBaTEIIs.
50-69 6a0oB (WM OIICHKA «Y/AOBJIETBOPHTEIbHO0») BBHICTABIISETCS 00yJaOmEeMycs, €CJId OH
NPUHUMAET ydacThe B Oecelie 10 OJIHOMY-JIBYM HanOoJee MPOCThIM 00CYKIaeMbIM BOIIPOCAM;
KOPPEKTHO BBICIYIIMBACT WHBIC MHEHUS; HEYBEPEHHO OPUEHTHPYETCS B COJCPKAHUH
00CYX/IaeMbIX BOIIPOCOB, TOPOH JOMYyCKas OMIMOKH, B IOJIEMUKE MPEANOYUTACT 3aHUMATh
MO3UIIMIO 3aWHTEPECOBAHHOTO CIyIIATENs; CTPOUT KpaTKHe, HO B IIEJIOM JIOTUYHBIC
BBICKAa3bIBaHUS, COINPOBOXKJIaeMble HauOOJee OYCBUIHBIMU IPHUMEPAMHU; TEPSIETCS IPH
BO3HUKHOBEHUU HEOKHJIAHHBIX PAKypCOB OECe/Ibl U B 3TOM CJIydae HYKJIACTCS B YTOUHSIOIIUX
Y (MJIH) TOTIOJHUTENBHBIX BOIIPOCAX MPETOIaBaTEIS.
Menee 50 6ann0B (WK OlCHKA «HEYTOBJIETBOPUTEIbHO») BBICTABISIETCS 00yJarOIEeMycs,
€CIIM OH HE BJIAJICET COJCPKaHUEM OOCYKIAaeMbIX BOIIPOCOB WIIM JIOMYCKAET rpyObie OLTHOKH;
MacCHBEH B OOMEHE MHEHHUSMH WJIM BOOOIIEC HE y4aCTBYET B JUCKYCCHHU; 3aTPyIHICTCS B
MOCTPOEHUM  MOHOJIOTMYECKOTO  BBICKa3blBaHUS W (MJIM)  JIONyCKAaeT  OIIMOOYHbIE
BBICKa3bIBAHUS TOCTOSIHHO HY)XJA€TCs B YTOUHSIOMIMX U (MJIM) JOMOJHHUTEIBHBIX BOINpPOCAX
IIPEero/1aBaTels.

1.4 BOITPOCHI U 3BAJTAHUSA B TECTOBOI ®OPME

1. Profession of an Economist

Task 1. Complete the sentences, use your active vocabulary.

1. The combination of salary plus perks is ...

2. Money that some professions charge for a particular service they have done is ...
3. Money that you receive as payment from the organization you work for, paid
monthly is ...

4. Extra payments such as a company car, free accommodation etc. is ...



5. Money you earn that is paid according to the number of hours, days, or weeks that
you work is ...

6. ... is a person who is successful in business and so has become rich and

powerful.

Task 2. Insert the prepositions:

1. Economists are employed ... a number ... different job settings.

2. Most students studying ... the university ... the first time take a Bachelor’s
degree.

3. Business economists work ... bank.

4. Entrepreneurs make a profit ... risk-taking or initiative.

5. Students at Leicester Business School follow more specialist routes ...

courses such as accounting and finance or public policy.

6. Students at the BSU are prepared ... careers as professional economists ...
business and government.

Task 3. Choose the right option.

1. Entrepreneur is a(n) ... word.

b) Latin;

c) English;

d) French;

e) Greek.

2. Economists ... prices, compute total output and perform other useful tasks.

a) control;

b) check;

C) monitor.

3. About half of economists are ...

a) government economists;

b) academic economists;

C) business economists;

d) entrepreneurs.

4. A bachelor’s degree requires ... of college.

a) one year;

b) four years;

c) three years;

d) five years.

Task 4. Match outstanding economists and their works.

1) Adam Smith

2) David Ricardo

3) John Maynard

Keynes

a) Principles of Political Economy and Taxation

b) General Theory of Employment, Interest and Money

¢) An Inquiry into the Nature and Causes of the

Wealth of Nations

Task 5. Translate into English.

MarHaT, YaCTHBIN npeaAlpuHNUMAaTeIIb, pa60qee MECCTO, AOIIOJIHHUTCIIBHBIC JIBI'OTHI,
3apa60THasI Ijiara, )KaJ'IOBaHBC/OKJIaI[, HpeI[CKaBaHI/Ie/HpOI‘HOS,
aKaZ[eMHHeCKHﬁ/TCOpCTI/I‘-ICCKPIf/i, pacrnpeacicHuce, BKOHOMquCKHﬁ, 3KOHOMHI>II>1,
HaJIOTOBOC TIOCTYILJICHUC, HpI/I06pCTaTB HpO(l)CCCI/IIO OKOHOMMUCTA, TIPOABJIATH
CMOCOOHOCTH K 4eMy-u0o, YyHpaBisaTh pabOTOH, CTemneHb OakajaBpa, CTENEHb
MarucTpa, yrnpasJisiTb CBOUM COOCTBEHHBIM 61/I3HCCOM, H3;[ep>1<1<1/1/ 3aTpaThbl.

2. Economics and Economic Methods

Task 1. Rearrange the following words to make up the sentence:

a) condition/ greater/ in/ which/ human/resources/than/ the/ scarcity/ is/ wants/
the/ are/ available.

b) cost/ the/ next/ particular/ best/ want/ is/ opportunity/ resources/ given/ is/



use/ up/ in/ when/ way/ alternative/ to/ that/ you/ a.

c) use/ their/ sold/ personal/ consumer/ are/ for/ finished/ to/ products/ own/
goods/ consumers.

d) much/ in/ economical/ more/ bulk/ is/ buy/ it/ to.

Task 2. Complete the sentences using the words given below: economic
goods, consequences, economic analysis, scarcity, value, result, logic.

1. .....are things of.....that you can see, and show to the others.

2. Because of....., it is impossible to satisfy every desire.

3. Principles and theories - the end.....of.....

4. We use....., graphs, or mathematics to determine the.....of the assumptions.
Task 3. Translate into English:

1) mepcneKTUBHBIN B3TJISIL;

2) yayduiath KauecTBO;

3) HEyIOBJIETBOPEHHBIE TIOTPEOHOCTH;

4) SKOHOMHBII1;

5) neHeXHO-HAJIOoTroBast MOJTUTHKA;

6) GoraTblit;

7) MaTepHUaIbHBIH;

8) mpeanonoxeHue;

9) pasmenenue;

10) ToBaps! PON3BOICTBEHHOTO

HAa3HAYCHUS.

Task 4. True or false:

1. Something that is economical requires a lot of money to operate.

2. Microeconomics is a branch of economics that studies such variables as
unemployment, growth of economy, national incomes, money supply,
monetary policy.

3. Opportunity cost is your limited income.

4. Entrepreneurship is a function of combining and organizing natural resources,
capital goods, labour, assuming the risks of business failure, and

providing the creativity and managerial skills necessary for production to
take place.

5. Facts are how individuals and institutions behave in producing, exchanging,
consuming goods and services change with time.

3. Economic Systems

Task 1. Insert the articles if necessary.

1. In a democracy, voting procedures determine ___ society’s will.

2. It is necessary to decide what kinds of __ consumer and capital goods
will be produced.

3. Food can be produced by large or __ small number of workers.
4. This question is the most difficult of all because it involves __issue of
fairness.

5. The basic economic questions are answered directly by _ people involved.
6. A market economy is ____ opposite of a command economy.

7. In such economies, buyers and sellers have __ great deal of economic
freedom.

8. All major economies are mixed economies in ____ sense that some decisions
are made by individuals and some are made by governments.

9. Collapse of _ 2nd World led to classification problems.

10. This term no longer made ___ sense.

Task 2. Choose the best word to complete the sentences:

1. An economic system works via the ... of three invisible forces. (intersection,
interference, interaction)

2. An economic system is closely tied to a ... system. (political, social, financial)
3. No nation can produce enough goods and services to satisfy everybody’s



... . (needs, wants, desires, wishes)

4. In ... economy each unit produces most of its own goods and consumes

what it produces. (command, mixed, traditional)

5.In ... economies individuals have little control or influence over the way

the basic economic questions are answered. (traditional, command, market)

6. In ... economies buyers and sellers send signals to one another as they interact
through the system. (traditional, command, market, mixed)

7. ... economies face the task of moving from a centrally planned system towards
a more market-oriented approach. (mixed, transition, traditional)

Task 3. Translate into English.

A. Words and expressions:

I[e(bI/IIII/IT, AJIBTCPHATUBHAA CTOUMOCTH, HCBUAUMBIC CUJIbI, IIPUHATUC DKO-
HOMHMYECKUX PELICHHH, TpoLieypa roJIOCOBaHUS, OTPAHUYEHHBIE PECYPCHI,
paBHas 7075, CpeACTBA IPOU3BOJICTBA, YIOBIETBOPUTH MOTPEOHOCTH, IKOHO-
MUKa [1€PEXOIHOTO Mepro/a.

B. Sentences:

1. Heobxomumo pemuTh, Kakue TOBaphbl M yCIyTd IPOU3BOJICTB, UCIIOJIb3YS
OTpaHUYEHHBIE PECYPCHI.

2. DTOT BONPOC CaMblil TPYAHBIH, T.K. OH BKJIIOYAET MPOOIIeMy CIIpaBeAIUBOCTH.
3. CymiecTBYIOT TpU OCHOBHBIX CIIOCO0A TPUHATHS IKOHOMHUYECKUX PEIICHUH.
4. B KOMaH/IHOW SKOHOMHUKE MPAaBUTEIbCTBO BIAJECET MIPUPOAHBIMHU peCypca-
MU U CpCACTBAMU IPOU3BOACTBA.

5. AMepuKaHCKasi 5KOHOMHUKA SIBJISETCS IPEUMYIIECTBEHHO PIHOYHOM.

6. CMmemanHasi )KOHOMHUKA MPEJCTABISAET COO0I CMECh PBIHKA, PABUTEIBCT-
BEHHOTO BJIMSIHUS U TPATULUH.

4. Gross Domestic Product

Task 1. Insert articles if necessary

1. GDP is ... market value of all ... final goods and services produced within
... country in ... given period of time.

2. ... nominal GDP reflects both ... prices of ... goods and services and ...
quantities of ... goods and services ... economy is producing.

3. Items are included in ... nation’s GDP if they are produced domestcally,
regardless of ... nationality of ... producer.

4. Nominal GDP is ... value of all ... final goods based on ... prices existing
during ... time period of production.

5. By holding ... process constant at ... base-year levels ... real GDP reflects
only ... quantities produced.

6. GDP adds together many different kinds of products into ... single measure
of ... value of ... economic activity.

7. ... domestic firm’s sale to ... buyer in ... another country such as ...
Boeing sale to ... British Airways increases ... net exports.

8. NNP is ... total income of ... antion’s residents minus losses from ...
depreciation.

Task 2. Open the brackets, use the proper tense form.

1. (To understand) how the economy (to use) its scarce resouces, economists
often (to interest) (to study) the compostion of GDP among various types

of spending.

2. Because GDP (to intend) (to measure) income from the production, transfer
payments (to count/not) as part of government purchases.

3. Other measures differ from GDP (to exclude) or (to include) certain
categories of income.

4. Disposable personal income is the income that households (to leave) after
(to satisfy) all their obligations to the government.

5. Market prices (to measure) the amount people (to pay) for the different
goods and (to reflect) the value of those goods.



6. The expenditure approach (to sum) the four major spending components of
GDP (to consist) of: consumption, investment, government purchases, net
exports.

Task 3. Identify the one underlined word or phrase marked A),B),C) or D)
that must be changed and correct the mistake.

1. A) If we could measure; B) these totals we could examine whether the;

C) resources available to the residents of a country; D) change through

time.

2. The A) unadjested; B) datum show; C) clearly that the economy produces
more goods and services during some time of a year; D) than during others.
3. A) By these two statistics we; B) can compute; C) a third called; D) the
GDP deflator.

4. A) There are some products that; B) GDP excludes because; C) to measure
them; D) is so difficult.

5. NNP is A) the total income of; B) a nation’s residents; C) minus losses;

D) from depreciation.

6. A) Although various measures of income; B) differ in detail they almost
always; C) tell the same story; D) about economic conditions.

7. A) To a macroeconomic; B) standpoint transfer; C) payments are like; D) a
tax rebate.

Task 4. Translate into English:

A. PpiHOYHAs1 CTOMMOCTH KOHEUHBIX TOBAPOB U YCIIYT; TOCYAAPCTBEHHBIC
3aKYIKH; BCEOOBEMITIONTNI; PAaCOIaraeMbIi T0XO/I; YACTHIN HAITMOHATBHBIHN
MPOAYKT; Ha BHYTPEHHEM PBLIHKE; IPOU3BOIUTE U IIPOJABaTh HE3AKOHHO;
ce30HHas KoppeKkTupoBka; nedistop BBII; mo6aBouHass CTOMMOCTS; 110
JIOTOBOPEHHOCTH; aMOPTHU3aLM; IPOMEKYTOYHEIE TOBAPEL.

B. TpancdepHble maTeXu HE BHIIIJIAYMBAIOTCS B OOMEH Ha MPOU3BOIUMBIC
B JIAaHHBIN NIEPUOJ BPEMEHH TOBAPHI U YCIYTH.

,HJ'I?I Ha6.]'IIOI[eHI/I5[ 3a KOJIeOAHUSIMU B MAaKpO3KOHOMHUKE HE UMECT

3HAa4YCHUAI, KaKo¥ IMEHHO HU3MCPUTEIIb 10X0da UCIIOJIB3YETCA.

YucTe OKCIIOPT paBC€H IMOKYIIKaM OTCUCCTBCHHBIX TOBAPOB HHOCTPaHIIAMKA
(?KCIOPT) MUHYC TIOKYIIKH B CTpaHE WHOCTPAHHBIX TOBAPOB (MMITIOPT).
YroO0bI IOHATH, KaAK SKOHOMHUKA HUCIIOJIB3YET CBOU OI'PaHUYCHHBIC PECYPCEHI,
OKOHOMHUCTBI 4aCTO paCcCMaTpuUuBarOT BBII kax COBOKYITHOCTD Pa3JIMYHBIX
Pacxoa0B.

BBII Bki1togyaeT CTOUMOCTD MMPON3BCACHHBIX TOBAPOB U YCIIYI 3a
onpeneneHHHﬁ IMPOMEIKYTOK BPEMCHHU.

5. Inflation

Task 1. Insert prepositions if necessary.

1. Inflation hurts people who have loaned ... money ... a rate ... interest that
didn't include an allowance ... an increase ... the average price level.

2. The average level... prices is called the price level and is measured ... a
price index.

3. Demand-pull inflation is usually associated ... conditions ...full employment.
4. Changes ... the CPI are based ... a typical market basket... products purchased
that doesn't match the actual market basket purchased ... many consumers.
Task 2. Complete the sentences:

1. The boundary between inflation and ... is price stability.

2. The ... ... is the percentage change in the price level.

3. Inflation hurts people living on ... money incomes.

4. ... ... 1s often expressed as "too much money chasing too few goods".

5. One source of ... ... is supply shocks.

6. Demand-pull inflation occurs when the ... power in the economy increases
faster than the economy's productive ...



7. If inflation is correctly anticipated, contracts can be negotiated to include ... ...

Task 3. Choose the correct variant.

1. There are two kinds of inflation. They are ...

a) Demand- Push and Cost- Pull Inflation.

b) Demand-Pull and Cost-Push Inflation.

¢) Demand-Push and Cost-Push Inflation.

2. The consumer price index (CPI) ...

a) measures the cost of purchasing a market basket of goods and services
by a typical household during a base year period relative to the cost of
the same bundle during a lime period.

b) is a measure that compares changes in the prices of all final goods during
a given year to the prices of those goods in a base year.

c) measures the cost of purchasing a market basket of goods and services
by a typical household during a lime period relative to the cost of the
same bundle during a base year.

3. Deflation is ...

a) a reduction in the inflation rate.

b) a decrease in the general level of prices.

c) a situation in which a decline in the purchasing power of money results
in a rise of the general price level.

Task 4. Say whether these statements are true or false.

1. Cost-push inflation is an increase in the general price level resulting from
an increase in the cost of production.

2. Cost- push inflation is caused by too much money chasing for few goods.
3. Demand-pull inflation occurs when aggregate demand in the economy
increases faster than the economy's productive capacity.

4. Hyperinflation is an extremely rapid rise in the general price level.

5. The consume price index (CPI) is the most widely known price-level. It
measures the cost of purchasing a market basket of goods and services by
a typical household during a time period relative to the cost of the same
bundle during a base year.

6. Demand-pull inflation is an increase in the general price level resulting
from an increase in the cost of production.

Task 5. Give the English equivalents for the following:

a) peajbHas MOKyHaTeIbCKask CIIOCOOHOCTD;

b) kpeauTop nocieaHe HHCTAHIINH,

C) COBOKYITHBIC PACXObI;

d) mpou3BOICTBEHHAS] MOLITHOCT;

€) HHQIAUS CIIpoca;

f) cTUMynHpOBaTH PACXO/IBI;

g) uHpIAMOHHAs Ha/10aBKa;

h) 3ameienre TeMnoB HHQIIALNY;

1) MU3OBITOYHBII CIIPOC;

J) MHOIISIIIMOHHBIEC 0KUAHUS;

k) moxu npeanoxkeHus;

1) uHIEKC TOTPEOUTETHCKUX 1IEH;

m) NOHMKEHUE MOKYNATeIbCKOM CTOCOOHOCTH.

6. The Business Cycle

Task 1. Mark if the statements are TRUE or FALSE.

1. Other things remaining constant, the higher the unemployment rate, the
lower is the inflation rate

2. During a boom, the demand for goods and services declines and the
economy begins to work at below its potential

3. During a recession the economy expands to the point where it is working
at full capacity, so that production, employment, prices, profits, investment



and interest rates all tend to rise

4. The highest point on the business cycle is called a peak, which is followed
by a downturn or downswing or a period of contraction.

5. The lowest point on the business cycle is called a trough, which is followed
by a recovery or an upturn or upswing or a period of expansion.

6. Investment is closely linked to consumption, and only takes place when
demand and output are growing.

7. Structural unemployment is unemployment caused by a mismatch of the skills
of workers out of work and the skills required for existing job opportunities.
8. Full employment means zero percent unemployment.

Task. 2. Expand the sentences:

1. The unemployment rate is ... .

2. Employment is ... .

3. The labour force is

4. Negative growth is ...

Task 3. Describe two of the following concepts.

1. Types of unemployment.

2. Categories of people termed “between jobs”.

3. Advantages of frictional and structural unemployment.

4. Impact of technology changes on unemployment.

Task 4. Identify the one underlined word or phrase marked A),B),C) or D)
that must be changed and correct the mistake.

1. A) The highest point on the business cycle B) is called a peak, which

C) followed by a downturn or downswing or D) a period of contraction.

2. When economic A) times are good or when people feel B) good C) about
the future, they spend, and D) run off debts.

3. A) As soon as demand B) stop growing C) at the same rate, even at avery D) high level,
investment will drop.

4. A) To be classified as unemployed, a person B) must able and willing to
work, be actively C) seeking work, and be D) without a job.

5. A) How big this cost is B) depend on the C) natural rate of D) unemployment.
6. A) A raise B) in the unemployment rate also C) causes an increase D) in
the amount of crime.

Task 5. Translate into English:

A. Canpi0; 00€CIICHUBATHCS, YXY/IIATHCS; HACIIAS TOYKA ITMKJIA; CTIaT;
SKOHOMHUYECKUH noabCM, CC30HHAA 6e3pa60THua; CHM>XKCHHUC HAJIOI'OB,
HIIOTCKA,; YBOJIbHCHHUCE, ITIOJIHAA 3aHATOCTD, ,Z[e(l)J'ISIL[I/IOHHHﬁ Pa3pbIB;

BBIITYCK ITPOAYKIIUH

B.

1. CDpI/IKI_II/IOHHaSI 6e3pa60THua CBs3aHa C KPATKOCPOUHBIM IICPHOIOM, H606X0,I[I/IMBIM JJIA
MOKMCKOB HOBOM pa60TBI, B CBiA3U C IIOJTYYCHUCM O6p830B8.HI/IH, BBIXOJIOM H3 JACKPETHOI'O

OTIIYCKa, IICPEC3aA0M.

2.C pocTomM 0JIaroCOCTOSIHHS q)pI/IKI_II/IOHHaH 6espa6omua MOKCT BO3pacCTaTb, a COKPAILICHUC

€e BO3MOXKHO TI0 Mepe yITydIIeHHUs] METOJI0B cOopa
uHpOpMaIHu o pabounx MECTax, 4To, TEM HE MEHee, TpeOyeT yBeTHUCHHUS
U3JIePIKEK.

3. CtpykTypHas 6e3paboTHIla CBsi3aHA C MEPHOJOM TMOMCKA paboThl TeMU PAOOTHUKAMU, Ubs

CMELUANBHOCTD WIN KBaIU(UKALUS HE MO3BOJISIOT UM

HaWTH HEOOXOAUMYIO paboTy.

4. CtpykTypHas 6e3paboTuiia cBsi3aHa, TaKUM 00pa3oM, ¢ HECOOTBETCTBHEM
CIpoca U MpeAsokKeHus Ha pabouyro CUITy.

5. Huxnnyeckas 6e3paboTHIIa — 3TO Pa3HULIA MEXKIY YPOBHEM 0€3pabOTHIIbI
B JJAHHBII MOMEHT NPOMBIIIUIEHHOTO IIUKJIa U €CTECTBEHHBIM YPOBHEM
0e3paboTHIIBI.



6. B ycnoBusx pereccuu, HUKIUYeckas Oe3paboTuma nobaBisiercs K (GPHUKIHOHHOU U
CTPYKTYpHOH, a B YCIOBHSAX OKCIIAHCHHM €€ HETraTMBHOE 3HAYEHHUE COKpAIIAeT ypPOBEHb
0e3paboTHIIbI, BEIUNTAS HUKIHMUECKYIO 0€3pa0b0THIlY U3 (PPUKIIMOHHON U CTPYKTYPHOH.

7. Banking

Task 1. Insert prepositions:

1. The Federal Reserve does not rely ... Congress for funding.

2. ... aresult ...the Great Depression in the 1930, Congress gave the Fed
the authority to vary reserve requirements.

3. During World War 2, Federal reserve operations were subordinated ...
helping the Treasury borrow money ... low interest.

4. The governors are independent ... political pressure ... either Congress or
the president.

5. ... the late 1950, the Fed’s emphasis was ... price stability and restriction
... monetary growth.

7. In 1979 the Federal Reserve adopted a policy aimed ... more directly
controlling the money supply.

8. Commercial banks make profit ... charging interest payments ... overdrawn
accounts.

9. The advantage ...overdrafts is that interest rate is repayable only ... the
amount owed ... a particular time.

10. In their pursuit ... high profit, the banks sometimes get involved ... risky
operations fraught ... bankruptcy.

11. Most financial institutions operate ... the principle ... attracting deposits
and then lending them ... the other customers.

Task 2. Choose the correct answer:

1. At the center of the U.S. banking system is...

a) the Federal Reserve System.

b) the National Bank.

c) the Central Bank of USA.

d) the Credit Union.

2. A country's minimum interest rate is usually fixed by...

a) the commercial banks.

b) the credit unions.

c) the central bank.

d) the investment banks.

3. The reserve requirements is...

a) the interest rate a central bank charges on loans of reserves to banks.

b) the sum of money equal to a certain percentage of deposits that a bank
must keep on hand.

C) one nation's currency that equals one unit of another nation's currency.
d) the currency supplied by the Central Bank both to the commercial
banks and to private circulation.

4. The yield is...

a) buying and selling stocks and shares for clients.

b) available cash, and how easily other assets can be turned into cash.

c) the date when a loan becomes repayable.

d) how much money a loan pays, expressed as a percentage.

5. To combat inflation the government will often...

a) decrease the interest rate.

b) raise the interest rate.

C) raise the reserve requirement.

d) decrease the exchange rate.

Task 3. Complete the following sentences:

1. A central bank of the Republic of Belarus is the .

2. The Fed regulates the money supply by four basic tools: the



, the , buying and selling government bonds on the open
market and credit controls.
3. Commercial banks will lend money in two ways: by a and by an

4. In some European countries there have always been
combining deposit and loan banking with share and bond dealing
and investment services.
5. Commercial banks accept and use these funds to make
Task 4. Are the following sentences true or false?
1. Creditors prefer low interest rates.
2. The Fed's main task is to set and implement monetary policy.
3. The commercial banks of the Republic of Belarus may be both state-owned
and non-state banks set up by founders on a share or contribution basis.
4. The overdraft is charge at a fixed rate of interest repayable over a fixed period
of time.
5. The commercial banks cater to big companies only.
6. The central bank in Britain can use control of interest rates, open market
operations and required reserves to influences the monetary base and overall
interests rates in the economy.
7. The first level of the banking system is represented by commercial banks
through which the monetary policy of Belarus is implemented.
Task 5. Give the English equivalents:
1) Tekymuit cuér;
2) 3aéM, KpeIuT;
3) 1IeHa Ha HAJTWYHBIA TOBAp;
4) ya€THas CTaBKa;
5) MONOXUTH ACHBIM HA CUET;
6) omepaluu Ha OTKPBITOM PBIHKE;
7) nenexHoe oOpalieHue;
8) BasmroTHas OMpKa;
9) moronieHue;
10) cpok murarexa.
Task 6. Translate into English:
1. Be1 00513aHbBI TPEIOCTaBUTh HH(POPMALIHIO, TTIOITBEPKIAOIIYIO Ballly Tia-
TEXKECIIOCOOHOCTb.
2. 51 OBl XOTeN MepeBecTH CBOM BKIIAJ B IPYroil OaHK.
3. CoriacHo MoCTaHOBIICHHIO OaHK 00s13aH BepHYTh BKiIaquuky 2 000 § B
cJIydac 6aHKpOTCTBa.
4. OTKpLIBa}I TCKYH_II/Iﬁ CUCT B 6aHKe, BbI JOJDKHBI OCO3HaBaTh, YTO CMOXKCTC
CHUMATb ACHBI'M, HO HC MOJYUYNUTC HUKAKUX ITPOLICHTOB.
5. 51 mpeBbIcHI CBO# cUeT B 0aHKE M MOW Y€K HE ObLJI OTUIaueH.
6. 'ocynapcTBO MOHMKAET MPOLEHTHYIO CTaBKY, YTOOBI IPOCTUMYIIUPOBATH
3aCT OﬁHyIO 9KOHOMUKY.
7. MexayHapoIHbIH BaIIOTHBIN (DOH]] CTOCOOCTBOBAJ CTA0MIN3AIUN KYpPCOB
HHOCTPAHHBIX BAJIIOT.

8. Money and Monetary Policy

Task 1. Complete each sentences with a suitable preposition.

1. Society enforces the use of fiat money ... making it legal tender.

2. Money serves ... a unit of account, ... a store of value, and ... a standard
of defended payment.

3. The unit ...account is the unit ... which prices are quoted and accounts
are kept.

4. ... enough cash, the public must suffer forgone interest.

5. The cash ... circulation and the reserves ... private banks together are
called the monetary base.



6. Increased supply of ... money may cause problems ... people whose incomes
do not increase ... a rate consistent ... inflation.

7. According ... the monetarists, financing the deficit drive ... the interest
rate and crowd ... a substantial amount ... investment spending.

8. Discount rate is the rate ... which the central bank is ready to lend ...
commercial banks.

9. All values ... economic systems are measured ... terms ... money.

10. The Federal Reserve does not rely ... Congress ... funding.

Task 2. Complete the sentences using the verbs in the brackets.

1. Is a company’s financial health ... good and its assets sufficient, it ...
capital. (be, raise)

2. If the market ... to buy the issue at a minimum price, the banker ... them
and ... the loss. (refuse, take, absorb)

3. If profits ..., the owners of preferred stock ... dividends before those with
common stock. (be/limit, pay)

4. If money ... scarce, interest rates ... to rise because those seeking loans
will be competing for fund. (be, tend)

5. If plenty of money ... available for loans, the rate ... to move download.
(be, tend)

6. If the debt-equity mix ... too out of balance, the firm ... bankrupt. (be, go)
7. Ifhe ... employees or creditors on time, he ... into bankruptcy.
(can/not/pay, be/force)

8. A man’s credit ... good if his assets ... to be considerable. (be, know)

9. If his assets ... in doubt, it ... difficult for him to obtain large sums of
credit. (be, be)

10. If too much money ... available, its value ... . (be, decrease)

11. If the Bank of England ... that the interest rates will have to rise then the
commercial banks ... also their interests rates. (recommend, raise)

12. If borrowing ... more expensive, businessmen ... more reluctant to borrow
and develop their business. (become, become)

Task 3. Choose the correct answer.

1. The discount interest rate is known as:

a) exchange rate.

b) tax rate.

C) base rate.

d) money rate.

2. Flat money is supplemented by:

a) token money.

b) betting money.

c) 10U money.

d) mattress money.

3. The narrowest commonly used measure of money M1 consists of:

a) bills.

b) checking accounts.

C) coins.

d) all of the above are included.

4. The unit in which prices are quoted and accounts are kept is called:

a) the medium of exchanged.

b) the store of value.

¢) the standard of deferred payment.

d) the unit of account.

5. The speculative demand for money is also called:

a) “betting money”.

b) “fiat money”.

¢) “token money”.

d) “mattress money”.



6. The dominant school of economic thought before the Great Depression was:
a) Classical.

b) Keynesian.

¢) Monetarist.

d) Recardian.

7. What is the primary instrument used to regulate monetary policy in the USA:
a) open market operations.

b) changes in reserve requirements.

C) changes in discount rate.

d) credit controls.

Task 4. Based on the topic, conclude whether the following statements are
TRUE or FALSE:

1. Commodity money is mainly paper currency issued by governments and
deposits in checking accounts that are accepted as a means of payments for
goods and services.

2. The narrowest commonly used measure of money M1 consists of currency
and current accounts.

3. The transactions demand for money is the stock of money people hold to
pay unpredictable expenses.

4. Mainly paper currency issued by governments and deposits in checking accounts
that are accepted as a means of payments for goods and services is

token money.

5. People can exchange all goods and services for money.

6. A key assumption of Keynesian theory is that, given time to adjust, prices
and wages will decrease to ensure the economy operates at full employment.
7. Monetarists believe that the fiscal policy has a big effect on the economy
because of the crowding-out effect.

Task 5. Give the English equivalents:

1) cueTHas eqUHUIIA;

2) enMHMIIA OTCPOUYCHHOTO TIIATEXKa,

3) B3aMMOBBITOTHBI OOMEH;

4) 3aKOHHOE CPEJICTBO IJIaTeXKa,

5) crpoc Ha JIEHBI'W JIJIs1 COBEPILICHHS CIEIIOK;

6) crpocC Ha JIEHbI'U IS HETPEIBUICHHBIX PACX0/I0B;

7) B3auMHbIe (POHBI JICHEKHOTO PHIHKA;

8) (uHAHCOBBIC AKTHUBBI, TPUHOCSIIIHE TOXO/;

9) ekt BHITECHEHHS.

Task 5. Translate the sentences:

1. TOBapH " YCIYI'Y IPpOAAr0TC 3a ACHBI'H, 4 ICHBI'K B CBOIO OUCPCIb oOme-
HHUBAKOTCA Ha APYIUC TOBAPHI U YCIYI'U.

2. Z[paFOI_ICHHBIe MCTAJUIbI BCErAa CIIYKHJIN 3aI1aCOM HGHHOCTeﬁ.

3. baHKHOTEHI BBIITYCKAKOTCA MMPABUTCIIBCTBOM U HCKOTOPBIMU 0OaHKaMH U CUU-
TAIOTCSI 3aKOHHBIM IJIaTEKHBIM CpeaACTBOM.

4. Ecnu yenoBek 06J1a,uaeT SHAYUTCIBbHBIMH aKTUBAMHU, OH MOJKET IOJIYUUTDH
XOPOIIUHI KPEIHUT.

5. HOKyHaTeJIbHa}I CHOCOOHOCTH ACHCT 3aBUCHUT OT CIIPOCa U MPECIJIOKCHUA.
IlIkana oneruBanug: 100 GamibHast.

Kpurepun onieHuBanus:

Kaxp1ii Bonpoc (3a7aHue) B TeCTOBON (popMe OLIEHUBAETCA MO JUXOTOMHUYECKOH IIKajIe:
BBINOJIHEHO — 1 0ai1, He BeIoJaHeHo — () 0alIoB.

HpI/IMCHHCTCH CJICayromas mKaja nmepesoaa 0aJlJIOB B OLCHKY 11O 5-0aJUILHOM IIIKAJIE:
85-100 GanoB COOTBETCTBYIOT OLIEHKE «OTIUYHOY;

70-84 6amIoB — OIIEHKE «XOPOIIIOY;

50-6906a1710B — OIIEHKE «YIOBJIETBOPUTEIILHOY;

49 6annoB ¥ MEHee — OIICHKE «HEYJJOBICTBOPUTEILHO.



1.6 KOHTPOJIbHBIE PABOTEI

KonTpoabsnas pabora Nel
Fiscal Policy
Task 1. Think of the words that are similar in meaning for the following:
Increase, fall, gain, double, plummet, cut, deficit, influence, restrict, surplus.
Task 2. Insert prepositions where necessary:
1. Fiscal policy aims ____ changing the level of government spending and
taxes.
2. Ifthe demand ___ goals increases, prices continue to rise.
3. According __ Keynes a tax increase could reduce the demand and relieve
the pressure ____ prices.
4. The depression was a result of adrop _____ effective demand.
5. Surpluses are the exact opposite ___ the deficits.
6. Fiscal policy should move __ asurplus in the government budget.
7. Workers who are laid ___ automatically fall into a lower tax bracket.
8. The higher taxes take money _ their pockets.
9. The US has gone vary far ___ the past 50 years ___ expanding the role
of government in the economy.
10. Economic freedom is freedom to use the recourses in accordance
our own values.
Task 3. Translate from Russian to English.
1) pacmupuTh COBOKYITHBIN CITPOC;
2) MOBBICUTH BBIMTYCK MPOAYKIINH;
3) yBeIMYEHHE MPABUTEIILCTBEHHBIX PACX0/I0B;
4) cTuMyI 1711 SKOHOMHUYECKOTO POCTa;
5) yBenMueHHas MOTPEOHOCTh B TOBApax M yCIyrax;
6) MmaJieHre MIaTeKeCroCOOHOro CIpoca;
7) nedunut ¢enaepanbHOTo OIOKETA;
8) 10X0BI OT HAJIOTOB;
9) cnepkuBaromas GpucKaaIbHas MOJTUTHKA;
10) crumynupyromiast puckaabHas MOJUTHKA.
Task 4. Insert articles where necessary:
1. Inordertoend __ recession of 1980-81 the government tried to expand
aggregate demand.
2. After __ nation’s economy reaches full capacity production cannot expand.
3. Depressions occur as ____ result of a drop in effective demand.
4. We have ___ balanced budget when government expenditures are equalto tax revenue.
5. If people save the money __ consumption remains low.
6. Health care is____ public responsibility.



7. All recreational facilities are more needed by underprivileged than by

____ affluent.

8. Another essential part of economic freedom is freedom to use ___ resources
we possess in accordance with our values.

9. You are not free to set up ___ bank without ____ permission from a government
official.

10. The urgent need today is to eliminate ___restrictions, not add to them.

KonTtpoabnas padora Ne2
Supply and Demand
Task 1. Insert articles if necessary.
1. ... surplus or ... shortage exists at any price where ... quantity demanded
and ... quantity supplied are not equal.
2. ... change in ... quantity demanded is ... movement along ... stationary
demand curve caused by ... change in ... price.
3. As ... price rise or fall ... market moves towards ... equilibrium.
4. ... Supply, ... quantity of ... product that ... suppliers will provide, is ...
seller’s side of ... market transaction.
5. ... Demand is ... amount of ... goods that ... buyers are willing and able to
purchase.
6. ... bad publicity has had ... adverse effect on our reputation.
Task 2. Open the brackets and put the verbs in the necessary tense forms.
1. If you ... (to want) to know how any event or policy ... (to affect) the
economy, you must think first about how it ... (to affect) supply and demand.
2. If you ... (to expect) the price of goods ... (to rise) in the future, you ... (to
put) some of your current production into storage.
3. Manufacturing output ... (to increase) has increased by 8% in two years.
4. At the equilibrium price everyone in the market ... (to be satisfied): buyers
... (to buy) all they ... (to want) to buy and seller ... (to sell) all they ... (to
want) to sell.
5. Once the market ... (to reach) its equilibrium all buyers and sellers ... (to
be satisfied) and there ... (to be) no upward or downward pressure on the
price.
6. If the price of salt ... (to go) up 10% you ... (to pay) extra amount rather
than ... (to go) without salt.
7. What ... (to happen) to our sales if we ... (to increase) our advertising
costs by 5%?
Task 3. Identify the one underlined word or phrase marked A),B),C) or D)
that must be changed and correct the mistake.



1. Price A) continue; B) to fall; C) unless the market; D) reaches its equilibrium.
2. The bad publicity; B) has had; C) an adverse; D) affect on our reputation.
3. Elasticity allows; B) to analyze supply and demand; C) with; D) greatest
precision.

4. When any of the A) nonprice; B) determinants of supply; C) changes, the
supply curve responds; D) in shifting.

5. Quantity A) supplied is; B) an amount of; C) a good that sellers; D) are
willing and able to sell.

6. The law of supply A) states that there is a; B) direct; C) relation between
the price and the quantity; D) supplied.

7. Elasticity is; B) a measure of; C) how many buyers and sellers; D) respond
to changes in market conditions.

Task 4. Translate into English.

A. Tlpu mpounx paBHBIX; OOpPAaTHO MPOMOPLUOHATLHBI, PABHOBECHE; MOTPEOUTEIHCKUN PHIHOK;
€XKeJIHEBHBII BBITYCK MPOIYKIIMH; TI0XOM; 00araeMblii HaJIOTOM; HU3IIHWN TOBap; 1I€Ha OUUILEHUS
PBIHKA; IPOIIEHTHOE U3MEHEHUE 1IEHBI; IEPEKPECTHAS AITACTUYHOCTD CIpOCa.

B.
1. Bol gymaere, pocT IpOLEHTHON CTaBKU MOBIIUSET Ha YPOBEHb OTPeOU-
TEJIbCKUX Pacxo10B?
2. KoMIIeMeHThI — 3TO Mapbl TOBAPOB, KOTOPBIE YACTO HCIIOJIb3YIOTCS BMECTE.
3. JleticTBHsI MOKyMaTeIe M IPOJABIIOB €CTECTBEHHBIM 00Pa30M ITOTAIIKH -
BAaroT PBIHOK K PABHOBECHIO CIIPOCA Y IIPEIOKEHU.
4. HOCTaBI_HI/IKI/I CHHM>KAKOT LICHBI B OTBET HA n30BITOK TOBapa.
5. OmHUM 13 BaXXHEHINX (PaKTOPOB, ONMPEALSISIIONTNX BEIHYUHY CIIPOCa, sB-
JEICTCA ICHA TOBApa WKk YCIYI'd.

KonTpoasHnas padora Ne3
Market Structure
Task 1. True or False:
1. Pure competition is characterized by that in the market the big number of
the firms which are releasing similar, but not identical products operates.
2. Easy entry and exit of firms from the market are a necessary condition of
the pure competition.
3. In conditions of the pure competition demand for production of branch
represents a horizontal line.
4. Monopolist receives economic profit only in the long-term period.
5. Demand curve from which the monopolist collides, is less elastic, than a
demand curve of competitive firm.
6. Increase of the prices for the goods at a monopolistic competition is the
reason of that manufacturers start, as against conditions of the pure competition,
to receive economic profit.



Task 2. Answer the following questions.

1. The situation which is coming nearer to a pure competition, most likely,
will be characteristic for:

a. The market of grain.

b. The market of cars.

c. The market of teachers services.

d. The market of pencils.

2. An example of monopsony, limited oligopoly, is:

a. The market of drugs. c. slave trade (pa6oToprosis).

b. Business in which Tchitchikov

in « Dead souls » was engaged.

d. Business "MMM".

3. The monopolistic competition arises in the markets of those goods, where
elasticity of demand:

. Itis low. c. It is high.

. It is approximately equal 1. d. Can be any.

. If monopoly in branch is replaced by a monopolistic competition, from it:
. Sellers win. c. Win both sellers, and buyers.

. Buyers win. d. Nobody wins.

. What market, most likely, will be monopoly.

. A gaz station in a countryside. ¢. The market of grain.

. The market of roses. d. The seller of "Snickers".

. The market of red carnations will be...

. Monopoly. c. A monopolistic competition.

. The pure competition. d. Cartel.

. The markets of the pure competition and a monopolistic competition are

~N~N o 9 o~ O »H or T H T O

similar that...

a. The homogeneous goods are released.

b. The price exceeds marginal costs.

c. There are no barriers to the entry of competitors in branch.

d. Elasticity of demand is lower, than in the market of pure monopoly.

KonTposbnas padora Ned
International Trade

Task 1. Insert articles if necessary.

1. ....principle of ..... comparative advantage is.....central concept in.... international
trade

2. Nowadays .... WTO has more than 130 members.

3. In 1933.... North American Free Trade agreement reduced trade restrictions
among ...... United States .....Canada and ...Mexico.

4. ....Embargois ........ strongest limit on trade.

5. Fair trade is practice of buying goods directly from ...producers in ..... developing
countries.



6. Each exporting country has ..... incentive to subsidize exports even when
....Importing country levies.....import tariff.

Task 2. Insert prepositions.

1. Embargoes are the strongest limit .... trade.

2. There are various arguments ...restricting trade Modern tariff are imposed
....a different reason: to shut ...or add ...the price of certain imports.

3. Economic theory distinguishes ...... absolute advantage and comparative
advantage.

4. The effects ...free trade can be determined ...comparing the domestic price
..... the world price.

5. Economists and the general public often disagree .... free trade.

6. It took nearly 50 years to arrive... the final GATT agreement.

7. Then a country allows trade and becomes an importer ... a good, consumers
are better ..., and producers are worse... .

Task 3. Open the brackets, use the proper tense forms.

1. Britain’s balance of payments deficit (to improve) slightly recently.

2. America’s trade deficit (grow) sharply in February.

3. The continuing strong performance by Scotland’s exporters, despite the
relatively high exchange rate, (to be) very good news.

4. At present, farmers (to give) a set quota of sheep to produce in return for a
subsidy under the common agricultural policy.

5. The WTO (to govern) trade in many products and raw materials, but the
world of finance (to be) largely outside of its scope.

6. Customs duty on cotton (to remove) now to ensure cheaper availability of
raw material.

Task 4. Identify the one underlined word or phrase marked A),B),C) or D)
that must be changed and correct the mistake.

1. Goods that A) bought and sold B) on the open market are advertised and
sold C) to anyone D) who wants to buy them.

2. A) According B) to the September estimates, exports C) raised D) by 18%.
3. In A) the UK visible imports B) have traditionally been C) great D) than
visible exports.

4. A) The two presidents want to replace B) the suspicions of the past C) with
new commercial relationship based D) on free trade.

5. The aim of A) the current round of talks B) is to promoting free trade and
C) to avert the threat D) of increasing protectionism.

KonrtpoabsHnas padora NeS
Global Market and Developing Nations
Task 1. Insert necessary prepositions.
1. Industrial nations account ... about 70% of world output.
2. Belarus economy may be considered as an economy ... transition
3. India is weighed ... ... international debts.
4. The economy of Four Tigers is concentrated ... light manufacturing
5. Developing nations range ... the poorest in the world ..those that built an
industrial base.
6. WB and IMF have held ... the Tigers as models... other developing nations.
Task 2. Mark if the following is TRUE or FALSE.
1. Industrialized nations also large growing urban population and serious difficulties



with poverty in the cities.

2. South Korea may best be described as an economy in transition.

3. EU includes only countries of Europe.

4. The term sustainable growth refers to political growth based on renewable
resources and average environmental degradation.

5. Newly industrialized nations (NICs) have a slowly growing base of productive

capital and rising incomes. Most of these nations have poor governments
and primitive banking and financial systems

6. Brazil is weighed down with international debt and must work hard to control inflation.

7. Developing nations have a rapidly growing base of productive capital and
rising incomes.

Task 3. Complete the following sentences, use the prompts below:

1. Economists classify the world’s economies as..., ...and ... nations.

2. The term ... refers to economic growth based on renewable resources and
minimal environmental degradation.

3. An ... has a large base of productive capital, sophisticated banking systems and

financial markets, a variety of industries producing a broad range of products,
and vigorous and varied international trade.

4. Newly industrialized nations (NICs) have a rapidly growing base of productive

capital and ... .

5. A number of developing nations have large, growing urban populations and
serious difficulties with ... ,... and ... .

6. These measures would ...economic crisis in this country.

Task 4. Give definitions to the following terms.
1. Global Market.
2. Sustainable growth
3. Devaluation
4. Special Drawing Rights
KonTpoasHasi padora Ne6
Advertising
Task 1. Mark if the following statements are True or False.
1. Itis illegal to make untrue statements about goods.
2. A statement of the objectives of the advertising campaign is known as a brief.
3. Advertising creates an extra supply.
4. An agreed budget is an overall advertising strategy concerning the message
to be communicated to the target customers.
5. When a popular personality is used in the advertisement it is an endorsement.
6. The mass media used in advertising include radio, mail and television.
7. A sponsor may be anyone who has money.
8. Advertising is generally accepted as a short-run investment.
9. Advertising should be legal, honest and true being to protect the consumer
from being deceived and misled by ads. .
10. The British Code of Advertising Practice exists to protect the buyers from



being deceived by ads.

Task 2. Complete the following sentences.

1. The main media types are...

2. Sponsor may be ...

3. The client company generally gives the advertising agency ...

4. The advertising agency planners have to decide ...

5. Advertising people talk about frequency or OTS (...) and threshold effect —

the point...

Task 3. Insert necessary prepositions.

1. No providers of goods or services rely only ... word-of-mouth advertising.

2. Descriptive advertising is used by small traders selling ... the local paper.

3. It is illegal ...advertisers to make untrue statements ... their goods.

4. The British Code of Advertising Practice exists to protect the consumer ...
being deceived and misinformed ..advertisements.

5. Advertising which invisibly registers information ... the viewer’s subconscious
is called subliminal advertising.

6. Everyone is influences ...the adverts ...a certain extent.

Task 4. Give definitions to the following concepts.

Word-of-mouth advertising, descriptive advertising, classified advertising,
prestige advertising, brief, target market, threshold effect, and comparativeparity method.
Task 5. Translate the sentences paying attention to the verbals in different functions.

1. Advertising is the business of drawing public attention to goods and services, performed
through a variety of media.

2. Pioneering the concept of the music video, MTV ushered in a new type of advertising: the
consumer tunes in for the advertisement, rather than it being a byproduct or afterthought.

3. Entire corporations operated solely on advertising revenue, offering everything from coupons to
free Internet access.

4. Advertising, in its non-commercial guise, is a powerful educational tool capable of reaching and
motivating large audiences.

IlIkana ouenueanun: 5 6anivHas.

Kpumepuu ouenusanus:

5 0aJ10B (WM OIICHKA «OTJIMYHO») BBICTABIIsIETCs 00ydaroleMycs, eCii MPaBUIbHO BHITIOJIHEHO
100-90% 3amanuii.

4 6ansa (WM OIIEHKA «XOPOI0») BHICTABIsIETCS 00ydaroeMycs, €CIH MPaBUIHHO BHITIOIHEHO
89-75% 3amanuii.

3 0as1a (WM OIICHKA «Y/I0BJIETBOPHUTEIbHO») BEICTABIISIETCA 00yUaroeMycs, €CIIH MPaBUIbHO
BBINOJIHEHO 74-60% 3a1anuii.

2 6as1a (WM OIICHKA «HeY/A0BJIeTBOPUTEIbLHO0») BBICTABISETCS 00yJaromeMycs, eCiu
IpaBWIBHO penieHo 59% u menee % 3anaHuil.



2 OLIEHOYHBIE CPEJICTBA JUIS TIIPOMEXYTOYHOW ATTECTALIMU
OBYYAIOLIUXCS
2.2 BAHK BOITPOCOB U 3AJIAHUI B TECTOBOU ®OPME

3auerHbli Onjet Nel

YkaxkurTe NpaBWIbHBIN 0TBET:

PROFESSION OF AN ECONOMIST

A: Questions 1-14 are incomplete sentences. Beneath each sentence you will
see four words or phrases, marked (A), (B), (C), and (D). Choose the one
word or phrase that best complete the sentence.

1. One of the most difficult decisions is choosing what to do fora ... .
(A) salary;

(B) living;

(C) employee;

(D) work.

2. She has always wanted to follow a definite ...

(A) company;

(B) training;

(C) business;

(D) career.

3. She likes the company because it trains its ... .

(A) employers;

(B) crew;

(C) staff;

(D) persons.

4. Working for IBM as a manager he gained useful ... .

(A) experiences;

(B) experienced;

(C) experience;

(D) experiencing.

5. She is S0 ... on getting to the top of her profession and she never lets anything
get in her way.

(A) willing;

(B) desperate;

(C) eager;

(D) intent.

6. He proved to be distinctly ... to working in a position of responsibility
(A) incompatible;



(B) inapt;
(C) unfit;
(D) unsuited.
7. They started the business in ... of making a lot of money quickly, but
things didn’t work out that day.
(A) expectation;
(B) belief;
(C) certainty;
(D) likelihood.
3aueTHblii OnJ1eT Ne2
PROFESSION OF AN ECONOMIST
A: Questions 1-14 are incomplete sentences. Beneath each sentence you will
see four words or phrases, marked (A), (B), (C), and (D). Choose the one
word or phrase that best complete the sentence.
8. I’d like to start my own business, but I’'m not sure how to ... about it.
(A) come;
(B) bring;
(C) go;
(D) see.
9. He has been with the company for 30 years , but the management has
now decided to ... with his services.
(A) discard,;
(B) dispense;
(C) disuse;
(D) dismiss.
10. Eventually he ... up the courage to ask for a pay rise.
(A) plucked;
(B) grabbed;
(C) grasped;
(D) snatched.
11. She took the course with ... to improving her employment prospects.
(A) regard;
(B) view;
(C) consideration;
(D) relation.
12. Despite having a low income, she manages to ... .
(A) get by;
(B) keep up;
(C) live on;
(D) stand for.



13. She was on her ... throughout the interview because she didn’t want to
say anything stupid.

(A) defense;

(B) lookout;

(C) caution;

(D) guard.

14. What was is that ... you to change career so suddenly?
(A) moved;

(B) originated:;

(C) resulted:;

(D) drew.

3ayeTHbIii OnJieT Ne3
ECONOMICS
A. Directions: In questions 1-17 each sentence has four underlined words or
phrases. The four underlined parts of the sentence are marked (A), (B), (C)
and (D). Identify the one underlined word or phrase that must be changed
in order for the sentence to be correct.
1. (A) Economics is (B) as old like the human race: it is probably (C) the
first art which (D) man acquired.
2. The first major book (A) about economics “An Inquiry (B) into the Nature
and Causes of the Wealth of Nations” (C) was published with great
success (D) in 1776.
3. (A) After the great American economist Paul, (B) every economic society
(C) has to answer three (D) fundamental questions, What, How, and For
whom.
4. (A) We could define economics (B) as the human science which studies
the relationship (C) among scarce resources and the various uses
(D) which compete for these resources.
5. (A) Small droppings in (B) business activity (C) are called recessions,
(D) while substantial declines are called depressions.
6. (A) In general, the faster (B) a country’s economic growth, the faster
(C) rising in (D) living standards.
7. (A) A business becomes profitable when (B) it makes more money
(C) than the sum (D) of their expenses.
8. The government (A) is making (B) every effort (C) to avert (D) an economic
crises.
9. (A) The focus of (B) economics (C) is (D) the production and distributing
of goods and services.
10. Economics Today (A) is (B) interesting, informative, and (C) it is easy



(D) to read.

11. (A) Despite of growing industrial activity, the majority (B) of the American
people continued to (C) make their living from farming (D) until the

beginning of the twentieth century.

12. Scarcity results from (A) disbalance (B) between (C) unlimited wants and
(D) relatively limited resources.

13. Economists (A) have tried to discourage the use of the phrase “underdeveloped
nation” and (B) encouraging the more accurate phrase “developing

nation” (C) in order to suggest (D) an ongoing process.

14. (A) An unexpected raise in the cost of living (B) as well as a decline in
employment opportunities (C) has resulted in the rapid creation (D) by

53

Congress of new government program for the unemployed.

15. Although we are (A) concerned with the problem of energy sources, we

(B) must not fail (C) recognizing the need (D) for environmental protection.
16. (A) But for the crisis he (B) hadn’t lost his job and (C) would be well off
(D) at present.

17. In 1848, at the first women’s rights convention, delegates (A) drew up a
declaration demanding equality with males (B) in education (C) and economic
opportunities (D) and in vote.

3auerHblii OnJeT Ned

ECONOMIC SYSTEMS

A. In questions 1-14 each sentence has an underlined word or phrase. Below
each sentence are four other words or phrases, marked (A), (B), (C), and (D).
You are to choose the one word or phrase that best keeps the meaning of the
original sentence if it is substituted for the underlined word or phrase.

1. Quite a few transactions take place on the basis of tradition.

(A) Several.

(B) Many.

(C) Little.

(D) Much.

2. The cost of living in the US has risen at a rate of 6 percent per year during
last ten year period.

(A) Tenth.

(B) Century.

(C) Decade.

(D) Quarter.



3. J.P. Morgan had a reputation for being a prudent businessman.

(A) Clever.

(B) Wealthy.

(C) Careful.

(D) Dishonest.

4. Marxist theory holds that most aspects of an institution are shaped by
economic factors.

(A) Elevated.

(B) Defined.

(C) Reformed.

(D) Detailed.

5. At the culmination of the Depression in 1933, millions of Americans
were unemployed.

(A) Resolution.

(B) Peak.

(C) Compulsion.

(D) Commencement.

6. Collective bargaining is a process by which management and unions
work out their differences.

(A) Raise.

(B) Contradict.

(C) Resolve.
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(D) Ignore.

7. Economist John Calbrait argued for more public goods in his book “The
Affluent Society”.

(A) Wealthy.

(B) Greedy.

(C) Outspoken.

(D) Impoverished.

8. Some economists are proposing that the US institute a consumption tax
rather than an income tax.

(A) In addition to.

(B) In place of.

(C) At the expense of.

(D) Alongside.

9. A cut in the budget puts 10 percent of the state employees’ jobs in jeopardy.
(A) Range.

(B) Review.

(C) Perspective.



(D) Danger.

10. Soon after the financial success of the Model T, Henry Ford announced

that from then on his company would share its profits with its employees.

(A) Divide.

(B) Save.

(C) Invest.

(D) Spend.

11. Few countries today enjoy prosperous economies.

(A) Static.

(B) Stable.

(C) Poor.

(D) Flourishing.

12. Keynes argued that to avoid an economic depression the government
spending and lower interest rate.

(A) is;

(B) higher;

(C) increase;

(D) should increase.

13. Out of John Kenneth Galbraith’s The Affluent Society for an

increase in public goods, potentially at the expense of private goods.

(A) came the argument;

(B) his argument;

(C) argued;

(D) the economist is arguing.

14. Some economist now suggest that home equity loans are merely a new
trap to push consumers beyond

(A) they can afford;

(B) they can afford it;

(C) what is affordable;

(D) able to afford.

3aveTHBIA OMJIeT NoS
SUPPLY AND DEMAND

A: Questions 1-10 are incomplete sentences. Beneath each sentence you will
see four words or phrases, marked (A), (B), (C), and (D). Choose the one
word or phrase that best completes the sentence.

1. The greater the demand, ... the price.

(A) higher;

(B) high;

(C) the higher;



(D) the high.

2. ... in the world export diamonds.

(A) only little nations;

(B) only few nation;

(C) only a little nations;

(D) only a few nations.

3. ... the law of demand consumers will ordinarily buy larger quantities of
units of a product at a low price than they will at a higher price.

(A) in accordance of;

(B) in accordance to;

(C) according with;

(D) according to.

4. The price ... which goods are sold is determined by the interaction of
both demand and supply.

(A) at;

(B) with;

(C) for;

(D) in.

5. A demand curve shows how many products will be ... at different prices.
(A) demand;

(B) demanding;

(C) demanded;

(D) being demanded.

6. The law of demand and supply was first worked ... by D. Lardner, an
Irish professor of philosophy.

(A) through;

(B) out;

(C) back;

(D) off.

7. Whole-grain food products ... in most large supermarkets across the U.S.
and Canada.

(A) now can purchase;

(B) can now be purchased;

(C) now to purchase;

(D) the purchase of which.

8. Prices for bikes can run ... $250.

(A) as high as;

(B) as high to;



(C) so high to;

(D) so high as.

9. To generate income, magazine publishers must decide whether to increase
the subscription price or ... .

(A) to sell advertising;

(B) if they should sell advertising;

(C) selling advertising;

(D) sold advertising.

10. The level of aggregate demand is ... in the economic system.
(A) the most important determined factor;

(B) the most important determining factor;

(C) the more important determined factor;

(D) the more important determining factor.

3aveTHbIii OnJIeT Ne6
WORK AND UNEMPLOYMENT
A. Directions: In questions 1-17 each sentence has four underlined words or
phrases. The four Underlined parts of the sentence are marked (A), (B),
(C), and (D). Identify the one underlined word or phrase that must be
changed in order for the sentence to be correct.
1. An American college (A) typically offers (B) a blend of (C) naturally and
social sciences and (D) humanistic studies.
2. (A) The family-sized farm is no longer (B) economically (C) competitive
(D) like it was in the 19th century.
3. A) Despite of (B) growing industrial activity, the majority of the American
people (C) continued to make their living (D) from farming until the
beginning of the 20th century.
4. Public Opinion Magazine reported that 57 percent of Americans (A)
strongly (B)believe that mothers with young children (C) should not work
outside of the home unless (D) their families badly needed the extra income.
5. A large percentage of the federal employees at the Denver government
center (A) are participating in an experimental (B) four-day (C) work
week aimed at curbing gasoline consumption and pollution two of (D) the
most urgent problems facing cities today.
6. The insurance program (A) used to include not only employees (B) but
(C) their (D) families.
7. Since (A) there was not any clarity the (B) farm workers refused (C) to
sign the new contract and voted to go on strike (D) instead.
8. (A) Bored of his job, (B) he made an appointment (C) to see an advisor



(D) at the counseling center.

9. The Wagner act (A) guarantees (B) workers in the U.S. (C) the right (D)

to organizing labour unions.

10. Marry Harris Jones, (A) known as “Mother Jones”, was a (B) prominence
figure in the (C) labor movement at (D) the turn of the century.

11. The work performed (A) by these officers (B) are not (C) worth our paying
(D) them any longer.

12. He (A) has been hoped for a raise for (B) the last four months, but his
boss is reluctant (C) to give him (D) one.

13. His job is quite (A) important to the total function of the firm (B) because
he is responsible (C) for maintain the records of sales and costs for (D) all
the departments.

14. (A) Fewest than half the staff (B) joined the new (C) optional dental (D)
insurance program.

15. The department chairman asked his staff to help with the registration
(called on/counted on) .

16. Kevin quit his career of an engineer because he found it too difficult
(checked out of/dropped out of) .

17. (A) Before she moved here, Arlene had (B) been (C)at the head of the organization
(D) since four years.

18. Angil’s bilingual ability and previous experience (A) were the qualities(
B) what (C) helped her get the job over all (D) the other candidates.

3aueTHbId OnJIeT Ne7

WORK AND UNEMPLOYMENT

Questions 1-10 are incomplete sentences. Beneath each sentence you will
see four words or phrases, marked (A), (B), (C), and (D). Choose the one
word or phrase that best completes the sentence.

1. Manufactures often sacrifice quality ...

(A) for a larger profit margin;

(B) in place of to earn more money;

(C) to gain more quantities of money;

(D) and instead earn a bigger amount of money.

2. Nancy hasn’t begun working on her Ph. D. ... working on her master’s.
(A) still because she is yet;

(B) yet as a result she is still;

(C) yet because she is still;

(D) still while she is already.



3. Last year Matt earned ... his brother, who has a better position.
(A) twice as much as;
(B) twice as many than;
(C) twice as many as;
(D) twice an more as.
4. Of the two new teachers, one is experienced and ...
(A) the others are not;
(B) another is inexperienced;
(C) the other is not;
(D) other lacks experience.
5. The doctor told his receptionist that he would return ...
(A) as early as it would be possible;
(B) at the earliest that it could be possible;
(C) as soon as possible;
(D) at the nearest early possibility.
6. Jane charged her major from French to business, ...
(A) with hopes to be able easier to locate employment;
(B) hoping she can easier get a job;
(C) with the hope for being able to find better a job;
(D) hoping to find a job more easily.
7. The doctor insisted that his patient ...
(A) that he not work too hard for three months
(B) take it easy for three months
(C) taking it easy inside of three months
(D) to take some vacations for three months
8. The more she worked, ...
(A) the less she achieved;
(B) she achieved not enough;
(C) she did not achieve enough;
(D) she was achieving less.
9. When Henry arrived home after a hard day at work, ...
(A) his wife was sleeping;
(B) his wife slept;
(C) his wife has slept;

(D) his wife has been sleeping.



10. He ... looked forward to the new venture.
(A) eagerly;

(B) with great eagerness;

(C) eagernessly;

(D) in a state of increasing eagerness.

3aueTHbIi OmJIeT Ne8
BANKING

A. Directions: In questions 1-15 each sentence has four underlined words or
phrases. The four Underlined parts of the sentence are marked (A), (B), (C)
and (D). Identify the one underlined word or phrase that must be changed
in order for the sentence to be correct.

1. Alexander Hemilton’s financial program (A) included a (B) central bank
to serve the Treasury, provide a depositary for public money, and

(C) regulation of the (D) currency.

2. Since banks usually give gifts to customers (A) who (B) deposited large
amounts to savings accounts; it is a good idea (C) to ask the bank officials
whether you (D) are entitled to receive one.

3. Neither my traveler’s check nor the money that my father (A) cabled me
(B) are sufficient (C) to pay (B) for the tickets.

4. (A) The high the rate of inflation, (B) the higher (C) the price of

(D) commodities.

5. (A) As every (B) other nation, the (C) United States used to define (D) its
unit of currency, the dollar, in terms of the gold standard.

6. Bank deposits are (A) a medium of exchange (B) because (C) it is generally
accepted (D) as payment.

7. You can write a cheque to yourself or (A) a third party and the bank

(B) is obliging (C) to pay whenever the cheque (D) is presented.

8. Reserves are the amount of gold (A) this is immediately (B) available in
the vault (C) to meet (D) depositor’s demands.

9. (A) A financial intermediary is an institutional that (B) specialized in (C)
having brought lenders and borrowers (D) together.

10. (A) A commercial bank borrows money from (B) public, crediting

(C) them with (D) a deposit.

11. The crucial feature of banks (A) are that some of their liabilities are used

(B) as a means of payment, and (C) therefore part of (D) the money stock.



12. Liquidity (A) refers on the sped and the certainly (B) with which an asset

(C) can be converted back into money, (D) whenever the assetholders desire.

13. Although these assets (A) are traded daily on the stock exchange, so in
principle these securities (B) can be cashed in any time the bank (C) is

wishing, their price fluctuates from (D) day to day.

14. (A) In the 1980s the government removed controls on the amount of deposits
the banking sector (B) could attract, and (C) increased the range of

deposit accounts which could (D) pay interests.

15. (A) The latter meant that deposits could (B) be increasingly used (C) as a
store of wealth, rather that (D) hold just for transactions purposes.

3auerHblii OuJer Ne9
MANAGEMENT

A. Directions: In questions 1-22 each sentence has four underlined words or
phrases. The four Underlined parts of the sentence are marked (A), (B),
(C),and (D). Identify the one underlined word or phrase that must be
changed in order for the sentence to be correct.

1. The Internal Revenue Service (A) uses computers to check tax return

(B) computations, to determine the reasonableness of deductions, and

(C) for verifying the accuracy of (D) reported income.

2. (A) Some economists now suggest that home equity loans (B) are merely
a new trap to push consumers (C) beyond what (D) had been affordable.

3. (A) Some general theories of motivation identify (B) limited number of
central motives, (C) from which (D) other motives develop.

4. (A) Prices for (B) bikes can (C) run (D) as high to $250.

5. The value (A) of the dollar (B) declines (C) as the rate of inflation

(D) raises.

6. The new model (A) costs twice (B) more than (C) last (D) year’s model.
7. The rest of the stockholders (A) will receive (B) his reports (C) in the
mail along with a copy of (D) today’s proceedings.

8. J.P. Morgan (A) had (B) a reputation (C) in being a prudent

(D) businessman.

9. (A) The Consumer Price Index (B) lists (C) how much every car (D) cost.
10. (A) A balance of international payment (B) refers to the result of the
business which a nation (C) carries on with other nations in a given

(D) periods.



11. The Internal Revenue (A) Service makes all Americans (B) to file

(C) their tax forms (D) by April 15 every year.

12. (A) Despite of the increase in air fares, most people (B) still (C) prefer

(D) to travel by plane.

13. Economists have tried (A) to discourage (B) the use of the phrase underdeveloped
nation and (C) encouraging the more accurate phrase “developing

nation” (D) in order to suggest an ongoing process.

14. Home buyers (A) is proceeding (B) cautiously (C) because of the high interest
(D) rates.

15. As the demand (A) increases, manufactures who previously produced

only a large luxury car, (B) is compelled (C) to make (D) a smaller model

in order to compete in the market.

16. The interest (A) rate on a (B) minimum balance savings account is a little
higher (C) then the interest rate on a regular (D) savings account.

17. (A) Finances can (B) consists of a combination of stocks, (C) bonds, and
74

(D) properties.

18. Top management must (A) took a hard (B) look at its current (C) product
lines to see if resources can (D) be reallocated.

19. To control quality and (A) making decisions (B) about production (C) are
(D) among the many responsibilities of an industrial engineer.

20. Let you and (A) | agree (B) to cancel the last shipment unless the company
(C) meets the conditions of (D) our original contract.

21. It is necessary that the direction (A) will sign (B) all (C) of the copies, not
just the (D) top one.

22. (A) Statistics (B) show that (C) the greatest number of B.A. degrees in
recent years (D) has been conferring in the fields of business management,
education, and social science.

3averHblid onjer Ne 10

ACCOUNTING

A. Questions 1-6 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (A), (B), (C), and (D). Choose the one

word or phrase that best completes the sentence.

1. Some economists are proposing that the United States Institute a consumption

tax rather than an income tax.



(A) in Addition to;

(B) in place of;

(C) at the expense of;

(D) alongside.

2. The “Consumers Price Index” lists...

(A) how much costs every car.

(B) how much does every car cost.

(C) how much every car costs.

(D) how much are every car cost.

3. The life fund is a pool of money into which all the premiums are paid and
from which all ... are eventually paid out.

(A) loans;

(B) savings;

(C) benefits;

(D) interest.

4. Insurance makes trading easier by ... a variety of risks.

(A) eliminating;

(B) describing;

(C) ensuring;

(D) creating.

5. California relies heavily on income from Kruit Crops, and ...

(A) Florida also.

(B) Florida too.

(C) Florida is as well.

(D) so does Florida.

6. This year will be difficult for this organization because...

(A) they have less money and volunteers than they had last year.

(B) it has less money and fewer volunteers than it had last year.

(C) the last year it did not have as few and little volunteers and money.
(D) there are fewer money and volunteers that in the last year there were.
B. In questions 7-9 each sentence has an underlined word or phrase. Below
each sentence are four other words or phrases, marked (A), (B), (C), and
(D).You are to choose the one word or phrase that best keeps the meaning of
the original sentence if it is substituted for the underlined word or phrase.

7. The new accounts offered by the bank are compounded semi-annually.



(A) every year;

(B) every six months;

(C) every two years;

(D) every half month.

8. Discretionary funds are included in most budgets to cover expenses that
the constructor might run into during the work.

(A) forget to do;

(B) pay for;

(C) meet unexpectedly;

(D) add on.

9. City taxes are based on an estimate of the value of one’s property.
(A) appraisal;

(B) forecast;

(C) diagnosis

D) outline.

IK3aMeHAIIMOHHBIN OnJyieT Nel

Read the following passage. It is followed by several questions about it. For questions 15-21 you
are to choose the one best answer, (A), (B), (C), or (D), to each question.

Until recently, most American entrepreneurs were men. Discrimination against women in
business, the demands of caring for families, and lack of business training had kept the number of
women entrepreneurs small. Now, however, businesses owned by women account for more than
$40 billion in annual revenues, and this figure is likely to continue rising throughout the 1980s.
As Carolyn Doppelt Grey , an official of the Small Business Administration, has noted,”
Thel1970s was the decade of women entering management, and the 1980s has turned out to be the
decade of the women entrepreneur”.

What are some of the factors behind that trend? For one thing, as more women earn advanced
degrees in business and enter the corporate world, they are finding obstacles. Women are still
excluded from most executive suites. Charlotte Taylor, a management consultant, had noted, ’In
1970s women believed if they got an MBA and worked hard, they could become chairman of the
board. Now they’ve found out that isn’t going to happen, so they go out on their own.”

In the past, most women entrepreneurs worked in “women’s” fields — cosmetics and clothing, for
example. But this is changing. Consider ASK Computer Systems, a $22-million-a-year computer
software business. It was founded in 1973 by Sandra Kurtzig, who was then a housewife with
degrees in math and engineering.

When Kurtzig founded the business, her first product was software, and her office was a bedroom
at home, with a shoebox under the bed to hold the company’s cash. After she succeeded with the
newspaper software system, she hired several bright computer science graduates to develop
additional programs

When these were marketed and sold, ASK began to grow. It now has 200 employees, and Sandra
Kurtzig owns $66.9 million of stock.

Of course, many women who start their own businesses fail, just as men often do. They still face
hurdles in the business world, especially problems in raising money; the banking and finance



world is still dominated by men, and old attitudes die hard. Most businesses owned by women
are still quite small. But the situation is changing; there are likely to be many more Sandra
Kurtzigs in the years ahead.

1. What is the main idea of this passage?

(A) Women today are better educated than in the past, making them
more attractive to the Business world.

(B) The computer is especially lucrative for women today.

(C) Women are better at small businesses than men are.

(D) Women today are opening more businesses of their own.

2. All of the following was mentioned in the passage as determines to
women in the business world EXCEPT...

(A) women were required to stay at home with their families.

(B) women lacked ability to work in business.

(C) women faced discrimination in business.

(D) women were not trained in business.

3. According to the passage, Charlotte Taylor believes that women in the
1970s...

(A) were unrealistic about their opportunities in business management.
(B) were still more interested in education than business opportunities.
(C) had fewer obstacles in business than they do today.

(D) were unable to work hard enough to succeed in business.

4. The author mentions the “shoebox under the bed” in the third paragraph
in order to ...

(A) show the frugality of women in business.

(B) show the resourcefulness of Sandra Kurtzig.

(C) point out that initially the financial resources of Sandra Kurtzig’s
business were limited.

(D) suggest that the company needed to expand.

5. The word hurdles in the last but one paragraph can be best replaced by...
(A) fences;

(B) obstacles;

(C) questions;

(D) small groups.

6. It can be inferred from the passage that the author believes that business
operated by women are small because ...

(A) women prefer small, intimate setting.

(B) women can’t deal with money.

(C) women are not able to borrow money easily.

(D) many women fail at large businesses.

7. The author’s attitude about the future of women in business is...



(A) skeptical;

(B) optimistic;

(C) frustrated,;

(D) negative.

Questions 22-25 refer to the following advertisement:

Outstanding opportunities with local real estate corporation. Requires strong background in real
estate, financing, closing. Some legal training helpful. Prefer candidate with M.A. and two or
more years of successful real estate experience. Broker’s license required. Salary range $16,000-
23,000 commensurate with education and experience. Begin immediately. Interviews will be
conducted Tuesdays and Thursdays, June 10 and 12. Call for an appointment 243-1153, or send a
letter of application and resume to:

Personnel Department

Executive Real Estate Corporation
500 Capital Avenue

Lawrence, Kansas 67884

22. Which of the following is NOT a requirement for the job advertised?
(A) At least two years’ experience.

(B) An M.A.

(C) A broker’s license.

(D) Extensive legal training.

23. The salary range indicates that...

(A) everyone earns a beginning salary of $16,000.

(B) the salary depends upon the amount of education and work experience
that the applicant has.

(C) some applicants would earn less than $16,000.

(D) candidates with an M.A. would earn $23,000.

24. What should an interested candidate submit with his or her application?
(A) A current address and telephone number.

(B) A signed contract.

(C) A summery of work experience.

(D) A request for employment.

25. This passage would most probably be found in...

(A) the classified section of a newspaper.

(B) a college catalog.

(C) a textbook.

(D) a dictionary.

IK3aMEeHAIIHOHHBIN OuyetT No2

Read the following passage. It is followed by several questions about it. For questions 18-23 you
are to choose the one best answer (A), (B), (C), or (D), to each question.



The relationship of economics to history is rather different from that of the other social sciences.
Curious as it may sound, this relationship in many respects comes close to that between history
and literature. Economics, after all, is the science (in the broad meaning of the term) of
something which men actually do. Even if the science did not exist, men would still make
economic decisions, economic predictions, and participate in the various forms of economic
organization which, in part, it is the economist’s function to describe. Similarly, the disciplined
study of literature is concerned with something which men would also do anyway even if the
discipline study did not exist: compose poems, act out dramas, write novels, and read them.
Political science, or the discipline of politics, has, it is true, many similarities to economics,
particularly when it is concerned with generalization about political structures.

18. What does the passage mainly discuss?

(A) The similarity between economics and politics.
(B) History’s and literature curious relationship.
(C) A definition of economics.

(D) Economics relationship with other sciences.
19. History is related to economics...

(A) in many different kinds of ways.

(B) in a different way from its relationship to literature.
(C) in the same way as it is related to literature.
(D) just as political science is related to economics.
20. The social science mentioned in the passage is:
(A) economics.

(B) history.

(C) literature.

(D) politics.

21. Economics looks at:

(A) all kinds of decision making.

(B) people’s real life behavior.

(C) broad aspects of organization over time.

(D) the description of historical events.

22. Studying literature involves:

(A) much hard work.

(B) putting poems and plays to music.

(C) looking at some normal activities of man.

(D) reading and writing novels.

23. The word “that” in line 1 refers to:

(A) history.

(B) economics.

(C) the relationship.

(D) the other social sciences.

Although the Wealth of Nations by Adam Smith appeared in 1776, it includes many of the ideas
that economists still consider the foundation of private enterprise. The ideas put forth by Smith



compose the basis of the philosophies of the school of thought called classical economics.
According to Smith’s ideas, free competition and free trade are vital in fostering the growth of an
economy. The role of government in the economy is to ensure the ability of companies to
compete freely. Smith, who was himself a Scot, lived during the period of the Revolutions in
America and in France. During this epoch, the predominant political thought was a strong belief
in freedom and independence in government. Smith’s economic ideas of free trade and
competition are right in line with these political ideas.

24. A “school” in line 3 is:

(A) a common belief.

(B) a college.

(C) a university.

(D) an educational institution.

25. Which of the following is closest in meaning to the word “free” in line 4?
(A) Cheap.

(B) No cost.

(C) Uncontrolled.

(D) Democratic.

IK3aMeHAIMOHHBII OnaeT Ne3

Read the following passage. It is followed by several questions about it For questions 15-20 you
are to choose the one best answer, (A), (B), (C) or (D), to each question.

The United States had just finished with the turmoil of World War 1 when the 1920’s were upon
it. This decade, one of the most colorful in U.S. history, was commonly referred to as the Roaring
Twenties. At various times it was nicknamed the Jazz Age and the Dollar Decade. Whatever the
label, this era brought economic growth, rising wealth, and lasting social and political changes.
During the 1920’s, an expanding economy resulted in exploding business profits and an increased
standard of living for most Americans. In less than ten years, the national income jumped by over
40%.Much of this increase can be attributed to the use of labor-saving machinery that allowed
workers to produce goods more quickly and less expensively.

Americans were encouraged their new-found wealth on consumer purchases. Even low-income
families could afford to buy an automobile, and the use of credit allowed millions of American
families to acquire luxury items such as refrigerators and washing machines. Promises of great
wealth convinced many Americans to invest in the stock market, also on borrowed money.

Ironically, it was obsession with profits and consumption that eventually brought an end to the
prosperity of Dollar Decade. Also, politicians and the American public viewed business as the
foundation of society leading to the philosophy that the economy could regulate itself best without
government controls. By 1929 the U.S. economy was heading for trouble, and the illusion of
prosperity was broken by the catastrophic stock market crash on October 29 of that year.

15. What is the main topic of this passage?

(A) A colorful era in U.S. history.

(B) The turmoil of World War 1.

(C) The nicknames of various decades.

(D) Lasting social and political changes.

16. According to the passage, the U.S. national income rose dramatically in
the 1920’s primarily due to...



(A) a stable economy;

(B) a declined standard of living;

(C) the use of labor-and cost-saving equipment;

(D) a redistribution of wealth.

17. According to the passage, how did many Americans pay for their luxury
purchases?

(A) With disposable income.

(B) With stock market profits.

(C) With money from their savings accounts.

(D) With money borrowed on credit.

18. It can be inferred that the 1920’s were nicknamed the Dollar Decade because
of ...

(A) a falling standard of living.

(B) preoccupation with making money and consuming.

(C) the introduction of washing machines and refrigerators.

(D) restricted access to credit.

19. In the last paragraph, the author uses the expression “the illusion of prosperity”
to suggest that...

(A) the economy was in worse shape that anyone thought.

(B) investment in the stock market was a smart move.

(C) the economy was capable of regulating itself.

(D) business was the basis of American society.

20. It can be inferred that the stock market crash of 1929 was caused largely by ...
(A) an overly efficient business philosophy.

(B) the failure of Americans to invest in the market.

(C) lack of government control over credit.

(D) disaffection for the great and overindulgence of the decade.

IK3aMeHAIMOHHBIN OnJieT Ned

Read the following passages. They are followed by several questions about them. For gquestions

11-13 you are to choose the one best answer, (A), (B), (C), or (D), to each question.

Recent technological advances in manned and unmanned undersea vehicles have overcome some
of the limitations of divers and diving equipment. Without a vehicle, divers often became sluggish
and their mental concentration became limited. Because of undersea pressure which affected their
speech organs, communication among divers was difficult or impossible. But today, most
oceanographers make observations by means of instruments which are lowered into the ocean or
from samples taken from the water. Direct observations of the ocean floor are made not only by
divers but also by deep-diving submarines. Some of these submarines can dive to depth of more
than seven miles and cruise at depth of fifteen thousand feet. Radio-equipment buoys can be
operated by remote control in order to transmit information back to land-based laboratories,

including data about water temperature, currents and weather.



11. Divers have had problems in communicating underwater because ...
(A) the pressure affected their speech organs.

(B) the vehicles they used have not been perfected.

(C) they did not pronounce clearly.

(D) the water destroyed their speech organs.

12. This passage suggests that the successful exploration of the ocean depends
upon ...

(A) vehicles as well as divers.

(B) radios that divers use to communicate.

(C) controlling currents and the weather.

(D) the limitations of diving equipment.

13. Undersea vehicles ...

(A) are too small for a man to fit inside.

(B) are very slow to respond.

(C) have the same limitations that divers have.

(D) make direct observations of the ocean floor.

IK3aMeHAIIMOHHBIN Outer Nos

Read the following passage. They are followed by several questions about them. For questions
29-36 you are to choose the one best answer, (A), (B), (C), or (D), to each question.

The Works Progress Administration (WPA) was formed in 1935 during the height of the Great
Depression as part of President Franklin Delano Roosevelt’s New Deal package to bring the
economy around and provide relief for the millions of unemployed throughout the country: the
goal of the program was to maintain people’s skills and respect by providing work to as many
as possible during this period of massive unemployment. For the eight years that the WPA was
in existence from 1935 to 1943, the WPA was responsible for providing jobs to approximately
eight million people at a cost of more than eleven billion dollars.

One of the more controversial programs of the WPA was the Federal Arts Project, a program to
employ artists full-time at such tasks as painting murals in libraries, theaters, train stations, and
airports; teaching various techniques of art; and preparing a comprehensive study of American
crafts. Criticism of the program centered on what was perceived as the frivolity of supporting
the arts at a time when millions were starving, industry was sagging, farms were barren, and all
that could flourish were bankruptcy courts and soup Kitchens.

29. This passage mainly discusses ...

(A) the Great Depression;

(B) the benefits of Franklin Delano Roosevelt’s New Deal;
(C) the New Deal and one of its controversies;

(D) bankruptcy courts and soup kitchens.

30. The word ‘package’ in line 2 could best be replaced by ...
(A) carton;

(B) secret gift;

(C) box;

(D) bundle of related items.

31. According to the passage, the stated purpose of the WPA was to...
(A) create new American masterpieces;

(B) raise the standard of American art;

(C) introduce new art techniques to the American public;

(D) improve the economy.

32. The word ‘massive’ in line 5 is closest in meaning to ...



(A)tremendous;
(B) rocky;
(C) clustered;
(D)dangerous.
33. The word ‘controversial’ in line 8 is closest in meaning to ...
(A) disputed;
(B) successful;
(C) creative;
(D) comprehensive.
34. All the following probably helped to make the Federal Arts Project controversial
except that...
(A) the Federal Arts Project employed many who would otherwise have
been out of work;
(B) train stations and airports were decorated with murals;
(C) the Federal Arts Project commissioned art works;
(D)a tremendous study of American crafts was produced.
35. The expression ‘centered on’ in line 11 could best be replaced by...
(A) encircled;
(B) located on;
(C) focused on;
(D) surrounded.
36. When the author states that ‘... all that could flourish were bankruptcy
courts and soup kitchens’, he probably means that...
(A) banks and restaurants did well during the depression;
(B) the poor could not afford to use banks or eat soup;
(C) the only organizations to thrive were those that dealt with the poor;
(D) many restaurants declared bankruptcy during the Depression.
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Read the following passage. It is followed by several questions about them. For questions 16
31 you are to choose the one best answer, (A), (B), (C), or (D), to each question.

A massive banking crisis occurred in the United States in 1933. In the two preceding years, a
large number of banks had failed, and fear of lost savings had prompted many depositors to
remove their funds from bands. Problems became so serious in the state of Michigan that
Governor William A. Comstock was forced to declare a moratorium on all banking activities in
the state on February 14, 1933. The panic in Michigan quickly spread to other states, and on
March 6, President Franklin D. Roosevelt declared a banking moratorium throughout the
United States that left the entire country without banking services. Congress immediately met
in a special session to solve the banking crises and on March 9 passed the Emergency Banking
Act of 1933 to assist financially healthy banks to reopen. By March 15, banks controlling 90
percent of the country’s financial reserves were again open for business.

16. The passage states that all the following occurred prior to 1933 EXCEPT
that. ..

(A) many banks went under.

(B) many bank patrons were afraid of losing their deposits.

(C) a lot of money was withdrawn from accounts.

(D) Governor Comstock canceled all banking activities in Michigan.

17. The word “moratorium” in line 4 is closest in meaning to which of the
following?



(A) Death.

(B) Temporary cessation.

(C) Murder.

(D) Slow decline.

18. The passage indicates that the moratorium declared by Roosevelt affected...
(A) the banks in Michigan.

(B) the banks in most of the U.S.

(C) only the financially unhealthy banks

(D) all the banks in the U.S.

19. Which of the following can be inferred from the passage?

(A) Congress did not give any special priority to the banking situation.

(B) The Emergency Banking Act helped all banks to reopen.

(C) Ten percent of the country’s money was in financially unhealthy banks.
(D) Ninety percent of the banks reopened by the middle of March.

20. Which of the following best describes the organization of the passage?
(A) A theme followed by an example.

(B) A problem and a solution.

(C) Opposing viewpoints of an issue.

(D) A problem and its causes.
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Read the following passage. It is followed by several questions about them. For questions 16-31
you are to choose the one best answer, (A), (B), (C), or (D), to each question.

The organization that today is known as the Bank of America did start out in America, but under
quite a different name. Italian American A.P. Giannini established this bank on October 17,1904,
in a renovated saloon in San Francisco’s Italian community of North Beach under the name Bank
of Italy, with immigrants and first-time bank customers comprising the majority of his first
customers. During its development, Giannini’s bank survived major crises in the form of a natural
disaster and a major economic upheaval that not all other banks were able to overcome. One major
test for Giannini’s bank occurred on April 18, 1906, when a massive earthquake struck San
Francisco, followed by a raging fire that destroyed much of the city. Giannini obtained two
wagons and teams of horses, filled the wagons with the banks reserves, mostly in the form of gold,
covered the reserves with crates of oranges, and escaped from the chaos of the city with his
cl9ients’ funds protected. In the aftermath of the disaster Giannini’s banks was the first to resume
operations. Unable to install the bank in a proper office setting, Giannini opened up shop on the
Washington Street Wharf on a makeshift desk created from board and barrels. In the period
following the 1906 fire, the Bank of Italy continued to prosper and expand. By 1918 there were
twenty-four branches of the Bank of Italy, and by 1928 Giannini had acquired numerous other
banks, including a Bank of America located in New York City. In 1930 he consolidated all the
branches of the Bank of Italy, the Bank of America in New York City, and another Bank of
America that he had formed in Cal9ifornia into the Bank of America National Trust and Savings
Association. A second major crisis for the bank occurred during the Great Depression of the
1930’s Although Giannini had already retired prior to the darkest days of the Depression, he
became incensed when his successor began selling off banks during the bad economic times.
Giannini resumed leadership of the bank at the age of sixty-two. Under Giannini’s leadership, the
bank weathered the storm of the Depression and subsequently moved into a phase of overseas
development.

21. According to the passage, Giannini...
(A) opened the Bank of America in 1904.



(B) worked in a bank in Italy.

(C) set up the Bank of America prior to setting up the Bank of Italy.
(D) later changed the name of the Bank of Italy.

22. Where did Giannini open his first bank?

(A) In New York City.

(B) In what used to be a bar.

(C) On Washington Street Wharf.

(D) On a makeshift desk.

23. According to the passage, which of the following is NOT true about the
San Francisco earthquake?

(A) It happened in 1906.

(B) It occurred in the aftermath of a fire.

(C) It caused problems for Giannini’s bank.

(D) It was a tremendous earthquake.

24. The word “raging” in line 8 could best be replaced by...

(A) angered;

(B) localized:;

(C) intense;

(D) feeble.

19. It can be inferred from the passage that Giannini used crates of oranges
after the earthquake...

(A) to hide the gold.

(B) to fill up the wagons.

(C) to provide nourishment for his customers.

(D) to protect the gold from the fire.

20. The word “chaos” in line 10 is closest in meaning to...

(A) legal system.

(B) extreme heat.

(C) overdevelopment.

(D) total confusion.

21. The word “consolidates” in line 17 is closest in meaning to...
(A) hardened.

(B) merged.

(C) moved.

(D) sold.

22. The passage states that after his retirement, Giannini. ..

(A) began selling off banks.

(B) caused economic misfortune to occur.

(C) supported the bank’s new management.

(D) returned to work.



23. The expression “weathered the storm of” in line 23 could best be replaced by...
(A) found a cure for.

(B) rained on the parade of.

(C) survived the ordeal of.

(D) blew its stack at.

24. Where in the passage does the author describe Giannini’s first banking clients?
(A) Lines 2-5.

(B) Lines 7-8.

(C) Lines 12-13.

(D) Lines 14-16.

25. The paragraph following the passage most likely discusses...

(A) bank failures during the Great Depression.

(B) a third major crisis of the Bank of America.

(C) the international development of the Bank of America.

(D) how Giannini spent his retirement.
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Read the following passage. They are followed by several questions about them. For questions 23-
32 you are to choose the one best answer, (A), (B), (C), or (D), to each question.

Although the composition and role of the board of directors of a company will vary from one
organization to the next, a few generalizations may be made. As regards the composition of the
board, customarily some directors are prominent men and women selected to give prestige to the
group. Others are usually chosen from among retired executives of the organization for their
specialized knowledge of the company. It is generally true that, as long as the top management
maintains the confidence of the board of directors, the directors will not actively intervene to
dictate specific policies. This is the same administrative procedure usually followed by the board
of trustees of a college or university, and is similar many respects to the parliamentary system of
ministerial responsibility practiced in Great Britain.

23. The word prominent in line 4 most nearly means...

(A) professional;

(B) ethical;

(C) important;

(D) elderly.

24. Who generally formulates policies for a company?

(A) Top manager.

(B) A dictator.

(C) The board of directors.

(D) Retired executives.

25. According to this passage, who would not be a likely candidate as a

member of the board of directors of City Bank?

(A) A retired president of City Bank.

(B) A respected lawyer.

(C) A City Bank employee.



(D) A state senator.
26. The title below that best expresses the ideas in this passage is...
(A) The Board of Directors.
(B) The Board of Trustees.
(C) The Parliamentary System.
(D) Management.
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Read the following passage. They are followed by several questions about them. For questions
23-32 you are to choose the one best answer, (A), (B), (C), or (D), to each question.

Eight basic practices have been found to be characteristics of successfully managing companies.
One of these is management’s “bias toward action; this was manifest in a willingness to
experiment and take risks. In such a company all new ideas get tested and then get stored rather
than discarded if they don’t work right away. Long, detailed strategies are not the rule, and ideas
are solicited from everyone, not just from corporate planners.

Many of these ideas are considered part of the management’s conventional wisdom in highly
profitable Japanese corporations, but few of them are common practice in the majority of
American business concerns, many of which do not realize the New Law of Business Life: that
strong cultures make for highly successful companies.

27. What does the word “these” in line 2 refer to?
(A) Basic practices.

(B) Successfully managed companies.

(C) New ideas.

(D) Different styles of management.

28. What does the word “this” in line 2 refer to?
(A) The action of management.

(B) A bias toward action.

(C) A willingness to experiment.

(D) Evidence of risk-taking.

29. What do the words “such a company” in line 3 refer to?
(A) One that is successful.

(B) One that plans ahead.

(C) One that takes risks.

(D) One that likes long’ detailed strategies.

30. What do the words “these ideas” in line 7 refer to?
(A) Basic practices.

(B) Strong cultures.

(C) Careful strategies.

(D) Ideas suggested by all employers.

31. What does the word “them” in line 8 refer to?
(A) Conventional methods.

(B) Japanese companies.

(C) These ideas.



(D) Business concerns.

32. What does the word “which” in line 9 refer to?
(A) Profitable Japanese corporations.

(B) Common business practices.

(C) American business concerns.

(D) New Law of Business Life.
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ADVERTISING

A. Directions: In questions 1-11each sentence has four underlined words or phrases. The four
Underlined parts of the sentence are marked (A), (B), (C), and (D). Identify the one underlined
word or phrase that must be changed in order for the sentence to be correct.

1. The “Fairness Doctrine” of the FCC (A) requires that radio and television

(B) stations give equal time to (C) opposing sides of (D) issues controversial.

2. Major (A) advertising companies have (B) traditionally volunteered

(C) its time (D) to public service accounts.

3. The (A) six main parts of a (B) business letter (C) are the address, the inside

address, the salutation, the body, the closing, and (D) signing your name.

4. A new product (A) should be judged not (B) by the promises made in

commercials and advertisements, (C) but also by the results

(D) demonstrated in actual use.

5. Commercials on the educational television network (A) are (B) generally

shorter (C) comparing to those (D) on other networks.

6. In the (A) cosmetics world Avon Products Inc. (B) emphasizes

(C) personnel selling (D) while Revlon Inc. emphasizes advertising.

7. Public relations (A) are concerned primarily with people outside (B) the

target market, although (C) it (D) may include them.

8. (A) Customer’s contact (B) personnel are (C) an important secondary audience

(D) for service advertising.

9. Writers and media (A) personnel sell (B) theirselves best (C) by the impression

given in their verbal (D) expression.

10. While verbalization is (A) the most common form of language in

(B) existence, humans make use of many (C) others systems and techniques

(D) to express their thoughts and feelings.

11. Writers and media (A) personal sell (B) themselves best (C) by the impression

given in their verbal (D) expression.

B. Questions 12-23 are incomplete sentences. Beneath each sentence you will see four words or
phrases, marked (A), (B), (C), and (D). Choose the one word or phrase that best completes the
sentence.

12. With effective advertising a company can become a ... name.

(A) house;

(B) household;

(C) housewife’s;

(D) home.

13. We need an effective campaign to ... our new product range.



(A) fire;

(B) set out;

(C) set off;

(D) launch.

14. During the commercial ... , there was an advertisement for a new
women’s magazine.

(A) break;

(B) breakage;

(C) pause;

(D) interval.

15. The first thing an ad must do is ... the reader’s eye.

(A) trap;

(B) catch;

(C) find;

(D) reach.

16. We need a name for the product which will ... to teenagers.
(A) draw;

(B) attract;

(C) succeed;

(D) appeal.

17. All advertisers must obey the industry’s ... .

(A) practice code;

(B) code of practice;

(C) practical code;

(D) code word.

18. Advertising on television is very expensive during ... viewing hours.
(A) peak;

(B) high;

(C) audience;

(D) big.

19. We did a lot of research to ensure that the advertisement would appeal to
the ... audience.

(A) aim;

(B) arrival;

(C) goal;

(D) target.

20. Newspaper advertising ... for 45% of the total.

(A) accounted,;

86

(B) counted;

(C) comprised;

(D) came.

21. Advertisers look at each newspaper’s ... figures before deciding where to
place their advertisements.

(A) circular;

(B) population;



(C) circulation;

(D) revenue.

22. If you advertise at airports, you have a
(A) captured;

(B) slave;

(C) captivated;

(D) captive.

23. She does the art work while I write the
(A) copy;

(B) copies;

(C) copyright;

(D) media.

... audience.

... for each advertisement.
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